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1.  Which word is the antonym of “Arrival” ?

(A) Conquer (B) Enemy (C) Departure (D) Welcome
2. Choose the correct punctuation mark for the sentence.

“Have you seen my school bag”

(a) 4 B) i © @ (D)
3.  Identify the appropriate collective noun for bees.

(A) herd (B) swarm (C) group (D) bunch
4.  What does “hang up the boots” mean ?

(A) Place the boots for cleaning (B) Kill someone by hanging

(C) Retire from active life (D) Peace after a war
5.  Identify the synonym of “Accurate”.

(A) Total (B) Pedigree (C) Sincere (D) Correct
6.  Which is the correct spelling for an annual day-date list ?

(A) Calandar (B) Calendar (C) Callendar (D) Calender
7.  Fill in the blank :

Yasmin on paying the bill for her whole group.

(A) requested (B) promised (C) suggested (D) insisted
8.  Which word in the following list is a Verb ?

(A) Run (B) Black (C) Faster (D) Human
9.  Which single word would mean the same as underlined portion of “The vaccine made the

person resistant to infection from Covid-19 Virus”.

(A) Immune (B) Healthy (C) Doctor (D) Medicine
10. Identify the preposition in :

The man is sleeping on a cot.
(A) on (B) man C) is (D) the
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11.

11.

11.

11.

11.

Which kingdom of India had influence extended to Southeast Asian region ?
(A) Chauhan (B) Rajput (©) Gupta (D) Chola

o

TSI (T AFICTT Aol wiwol-o7 Gfexl wieeeicat [ige t2fe 2

12.

12.

12.

12.

12.

(A) o1=A (B) dIG7® Q) g (D) &
wiiFel-s[-ATIR ST SRS (FiF AT 2O TS 2l 2

(A) 1R (B) & Q) g (D) Gle
TRAT o8 TFSiTET QHTE-FAST A SEe i e Wige! gF™ el 6 ?

(A) e (B) A (C) T (D) =

IRA o ford | o1 99T SF0-Te TR &5 7 o1 ?

(A) e (B) ST (C) T (D) =
Which of the following Muslim commanders did Mula Gabharu fight with ?

(A) Mir Quasim (B) Turbak (C) Iltutmish (D) Abeidullah
RS (e Jeemia ERi#Ifes [Ree e iiesE Ia IR 2

(&) FEww (B) ¥ (C) ZTTgfir (D) TETER
IR (I SPrTie @RI 0 Tl S I7 FEARE 2

(A) = I (B) W% (C) ZTgshm (D) TEAYER
Tl MH'T o1 MR 9R 9 JHAHH SHIATRRS Sl ASTHM ?

(A) R wifH (B) U (C) SoIqaHTe (D) 3eIgeeTe
Hen M A Fefafed § 9 fovw goemm dmafa | ek ot ?

(A) TR (B) Te (C) gt (D) Segeen

13.

13.

Which of the following has the NITI Aayog replaced ?
(A) Competition Commission of India

B) Staff Selection Commission

C) Union Public Service Commission

D) Planning Commission

RS (@G I3 TIfe e ww[e 91 (302 2
A) OIS YrocITel S
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13.

13.

13.

= =

oA @O IS et dfegion FEE 2
(A) ©RCen Afeifars! oSl

(B) FOIT o St

(C) LT EFER SIS

(D) GGl Sl

MRS ™ et STEATE! NITI 3T ! ?

(A) HHEIA HfFeH A% sf<an

B) W fHciehsr eAer

Hifa s = fr=faftea & 9 foeen wom e &2
(A) ¥R gfaeast ST

(B) HHERI =& &N

(C) H¥ ik Har ™

(D)  SISHT TR

GET IT ON
Google Play

14.

14.

14.

14.

14.

Which of the following is the Capital City of Chhattisgarh ?
(A) Raipur (B) Ranchi (C) Bhagalpur

RS T[T (L Be¥9 T G| 527 2
(A) I (B) <ol Q) SIS

MA@ 2fexoltea A *zq 2

(A) TR (B) =i (©) ShlEefe
TR B o1 SN TSI ?

(A) WX (B) wHfa (C) TR

frafafad 8 9 SF-91 ST S TS § 2

(A) TIH (B) T (C) AR

(D)

Dehradun

(T

15.

15.

Alexander (the Great) was from which ancient kingdom ?
(A) Persia (B) Byzantine (C) Macedonia

ARG (F A6 AS5F oNifeet 2
(A) siftat (o1=m)  (B) Reifew (C) fbreifaa

Paper-1/ A 8

Ottoman

T


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda@47

15.

15.

15.

TSI (F2N) @I A6 Aend e 2

16.

16.

16.

16.

16.

17.

17.

17.

17.

17.

(A) T (B) JI=CErTlz © cIfier (D) STCHI
FAFRSTR (7 U2) S M) M o« BT+ ?

(A) IR BRI (B) fommfe (C) "eR'Fr (D) 2'2'HM
fiehat (Wer) for wreia wmoe | o1 ?

(A) HRH (B) it (C) HESIf (D) &R
Which of the following countries does Assam share international border with ?

(A) Thailand (B) Bhutan (C) China (D) Nepal
RS (@ (™R G SPTN SIG R TR SRS [l I8 ?

(A) =TS (B) oM (C) BN (D) =&

s TR @FF @R A SPT SIESfoF ARIRIE SITmIE 2

(A) 2EETe (B) oM (© M (D) @=iie

ool IGTSI ST BRTSIRT FmT T 2

(A) o< (B) g (© = (D) Tt

s frfafaa § 9 f6e <9 o @Y S{aRisa Han | il © 2

(4) oS (B) e (© =i (D) e

The Upper House of the Parliament of India is called :

(A) Lok Sabha (B) Rajya Sabha (C) Vidhan Sabha (D) Vidhan Parishad
FL B W (I 2 ¢

(A)  (ETRTS] (B) SlETel (C) fae sl (D) TR ifzm
SIS FANE GO 6T 22 ¢

(A)  ERTSl (B) TSl (C) Tue el (D) T ~f=w
IRAM SHef TS TSl A g7 S 2

(A) A'H' | (B) TISH |l (C) Toum & (D) faum dfieg

HYS % FUU HeT bl el ST @ ¢
(A) Tk gl (B) U™ GHI (C) faum g (D) faum 9itvg
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18.

18.

18.

18.

18.

Which of the following words is NOT in the Preamble of the Constitution of India ?

19.

19.

19.

19.

19.

20.

20.

(A) Fraternity (B) Dignity (C) Modesty (D) Liberty
=S @G = SReT MRMT dFRme TR 2

(A) SI9TEK (B) &mi € Fw (D) F&qTel
TEF @ =6 SRS FRF[UE dBR_/AT =2 2

(A) alew (B) w&mi € Fw (D) el
MMM 99 WGl 9Ra HiafseH TERRAEmE @ ?

(A) ST (B) HH-HTHH (C) TSR (D) sEifE|
frfafed § § HH-91 78 R4 & Hfaer w g&ae § 11 82

(A) =R (B) IR (C) forrgra (D) el
Which mountain range passes through Delhi, Haryana, Rajasthan and Gujarat ?
(A) Shivalik range (B) Borail range

(C) Satpura range (D) Aravalli range

(ICG! Ao e, R, Srergie ol @b Aeewa 2119 07 Ol0R 2

(A) Frifers sifeT= (B) =iz “Soulal

(C) ATl R (D) SIRRETl o

(PR AFeriq] fe, 2RI, Mg G SERCHT T4 ey (o702 2

(A) frifers sfer= (B) =Rizel or=l

(C) o7l e (D) SIRRE! FRFor=at

TRTETE BT a1 BrsiH1 i foeett, sRam, Tseem SRl [Sids) aRais! ?

(A)  Trenferss greimm |k (B) rEe et EiR

(C) HeqU TNH |k (D) ST Bl |

HHA-G gl e feee, g, Tereem iR TR ¥ B 7ol ¢ 2

(A) Torafes geiqHTen (B) @I FeHTe

(C) Gl HelaHTeT (D) 3TEER qeaHT

Which of the following districts of Assam is in the Barak Valley ?

(A) Hailakandi (B) South Salmara-Mankachar

(€) Chirang (D) Morigaon

fRfere @ faen @ Soierere SRiEs 2

(A) I (B)  WEFel ®IeTwEl - WFIRS

(C) oA (D) wfRReife
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20.

20.

20.

=3 (@ (@I S IF S ST 2

(A) EeTwif (B)  WRRe W[ - NHIRT
(C) foan (D) wfHaite

A oo ST sieh S ?

(A) BETRIS (B) eIl HITHII-HTThTSR
(C) f= (D) Wi

31y o1 frefafea § 9 Sia-91 fSen s a6 § 2

(A) TeTERiE! (B) TfeIvT TNl THHR
(C) fawm (D) TR

21.

21.

21.

21.

21.

Who was the first Vice Chancellor of Gauhati University ?
(A) Nabin Chandra Bordoloi (B) Gopinath Bordoloi
(C) Kamalakanta Bhattacharyya (D) Krishnakanta Handique

iRl5! frefviee eleweRIFT BB (@i wiifes 2

(A) 9 @ IS (B)  CallsTimiel qqwea
(C) TP SEIHR (D) FEFT ACS
T Rt 2w Tom (& e 2

(A) 9 v AWM (B)  CallTimiel IqWCa
(C) ITARRE OB (D) FRHIC AT
TTemgret Heprarararar fifafas wrem fifeen Jrem 2

(A) e == IR (B) o SRt
(C) HHTHRI W= (D) FOERN BF<h
ARl forafaene™ % JoH FHerafd S o ?

(A) e =g SRS (B) TIdATY dARGIrs
(C) ATl Y= (D) FoTHd ek

22.

22.

22.

22.

22.

Which instrument is used for measuring atmospheric pressure ?

(A) Hydrometer (B) Altimeter (C) Barometer (D) Thermometer
YNGR bl7l GRACH (FHRY TG IR I T 2

(A) =G HEE (B) wIF5RGR Q) &IHoR (D) ARGR
IRINGH T Bl ST Ty (Tl 7 9929 I = 2

(A) TEEIRGE (B) wIFGfGE (C) AR (D) QATHRGE

TS TSI TRATSART TR T ?

(A) TESHR (B) eTdAfefier (C) R (D) 9" 'fHeR
AHESE <aTd i "9 % foT ford SueRtor 1 SuT fohar < © 2
(A) TESHIR (B) 3T (C) SRR (D) gHiHR
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23. Ali Aye Ligang is a festival of which community ?

(A) Khamti (B) Mishing (€) Karbi (D) Dimasa
23, Sifel SIS AN (PN TR B 2

(A) «mfe (®) fife © =R (D) feare
23. A S 6 @R TRMIER Ted 2

(A) A (B) fafbg ) = (D) T
23. ofifd o1 femiiet s« &= wRel ?

(A) @mfd (B) fufd (C) nifd (D) femmm
23. el U forT fohe THe™ &1 @R § 2

(A) @ (B) fafem (C) el (D) femmm
24. What is the main component of a glacier ?

(A) Lava (B) Salt water (C) Ice (D) Rain forest
24. fZREF 24 Tome & 2

(A) =TSl (B) ST e Q) [T (D) J=el
24, SR 249 TAWE St 2

(A) =TSl (B) FRNE & Q) =% (D) IR
24, SREBSHI TR Tfegarn o1 ?

(A) @ (B) wfag (C) = (D)  3T& SRA
24, TeAE I gATH AT ?

(A) e (B) @ Ul (C) oh (D) oS =
25. How many countries does India share land borders with ?

(A) Six (B) Seven (C) Eight (D) Nine
25. ST (Y (T e AN o I 2

A) = (B) S (C) = (D) =
25. TS (=T AP SRCSF Fe IS ACACE ?

A) = (B) e (C) G (D) =
25.  YRAl Y BES gee f9a T ?

(A) TFT (B) WA & (C) ¥H <A (D) HHET
25. R foha <90 & TN LT HIAT TR HLdl § ?

(A) ®® (B) ¥ (C) 3me (D)
Paper-1/ A 12
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26.

26.

26.

26.

26.

What was the former name of Karbi Anglong district ?

27.

27.

27.

27.

27.

28.

28.

(A) Mikir Hills district (B) Lushai Hills district

(C) Cachar Hills district (D) West Naga Hills district
IR iR et o4 1 & wiifeet 2

(A) FfRsq oty et (B) iz »iFey &

(C) IR e fee (D) =if¥5x Fa siifey fEmemt
I MR (TR AT W F oA 2

(A) s sifer ceemt (B) =PI ARy cerel

(C) IIYT oS (&=l (D) #fé5s Tl sy (=l
ifsl 3Tiet fStenf fae g1 A 2

(A) TafRT feew e (B) qur feed e

(C) =R feed fSem (D) ErTs AT feew fsret
Shlelt AT TSTet <1 gl A =R o1 ?

(A) TafR e e (B) TR U fSre

(C) SR e fret (D) 9f¥=™ ArT e e
McMahon line separates which two countries ?

(A) Afghanistan and Pakistan (B) Myanmar and Bangladesh
(C) India and China (D) Vietnam and Thailand
(I ST (A 7L (I 52T 2

(A) SRR i Az (B) SIS S JISTIC=

(C) ©FS W= 5N (D) oA IR AceTe
STIFAIES IR (P G0 (I STl SR 2

(A) oS G} AAfEEe (B) SIS &% JILETICH=]
(C) SRS G5 (D) TSN a8 AZeme
Herwe Famm o gremra! s ?

(A)  SAEMEN ST qIfRE (B) TR SR SicAlay

(C) ¥Rd AN == (D) FRaT™ &R Ageie
HeruTe T T & <9 b1 STerT Ll 7 2

(A)  AHMEM TR uiferear (B) R iR FiT@Rw®

(C) ¥R IR <+ (D) fooram iR omgeie
Kathakali is a dance form of which State ?

(A) Gujarat (B) West Bengal (C) Kerala (D) Himachal Pradesh
T (I AT GF ToF (*IeT! 2

(A) TG (B) ~If¥oa (C) = (D) fZ=ibet aron
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28. FURHR (T A TOICHE! 2

(A) @TAG (B) ~ifepsraer Q) e (D) fesribet 2o
28. HUHAA I THSIT HHEE ?

(A) TN (B) HNME STe (C) HTem (D) feam=e g
28. HUHA fhE T 1 T4 ®9 B 2

(A) TeN@ (B) Ufy=m Sa (C) *a (D) feam=a w=w
29. “Gobha Raja” is the titular king of which community ?

(A) Ahom (B) Mishing (€) Khamti (D) Tiwa
29. “colrel S@i” (I TEMRE S I 2

(A) =N (B) fif (C) «rfe (D) fsa
29. “calrel FE” (W TRV TN e 2

(A) SR (B) bR (C) <A (D) fexl
29. ‘‘zrHr N’ @ S IR HeTed’ 9™ TS 2

(A) ™ (B) faf§ (C)  @mMfd (D) faen
29. ‘‘Tiqr e’ SR YR ST ATHERY TS 2

(A) ™ (B) fafum (C) Wit (D) faan
30. Which country is known as the “Cockpit of Europe” ?

(A) Switzerland (B) Belgium (C) Spain (D) Portugal
30. WRERS @4 (™R “TTEIAT FHT” Fsl Sl A 2

(A) [IERCETS (B) (R@ATGI (C) iz (D) I$alle
30. IR & O “TTRIAT TG I @IS 2

(A) TSR (B) (Rl (C) iz (D) (oGl
30. o B! g3tuf e e faferE 2

(A) RS (B) s © == (D) TG
30. o 1 1 AT 1 HikUe HEl ST S ?

(A) fasree (B) dfestaH Q) ¥ (D) gdme
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31.

31.

31.

31.

31.

Which of the following sea passages connects Asia with Europe ?

(A) Suez Canal (B) English Channel
(C) Panama Canal (D) Strait of Malacca
RS @NE! Tmere el 2SEIPF (Tre TR I 2

(A) pES Qe (B) TG e

(C) AR A (D) ST efeTt
TIHF (I A~ G Tl @ TSR MG FECR ?

(A) are e (B) ™ oG

(C) oAl e (D) eI lelleT!
TR &6l Tl TR TEa T $30qe! e ?

(A) gUS SR (B) sferer @

(C) U SR (D) WA BT-GSTTa
foreferfiam & & S =1 T A TR o e 32

(A) T TR (B) sfiem™r et

(C) M A (D) HcIehRl SICTSHEHE

32.

32.

32.

32.

32.

Which community of Assam has “Choklong” system of weddings ?

33.

33.

(A) Bodo (B) Dimasa (C) Mishing (D) Ahom
SOTR (I MRS TR ALl [ e 23 2

(A) el (B) form © ffx (D) S
PG (Pl AW [0 “ (b1 s e e 2

(A) el (B) fowmT (©) fafox (D) Sl
ST 9 g ' =eha ' @rt-ersi St @ ?

(A) I (B) fewran (C) fufd (D) MW"
319m % fhe e ® ' <iewan’’ ot faare yomett § 2

(A) (B) femmen (C) fufsrm (D) 3™
Kurseong is a hill station in the state of :

(A) Sikkim (B) Arunachal Pradesh

(C) West Bengal (D) Nagaland

IR T IETT G A S ¢

(A) fofew (B) eeIIbeT AT

(C) o (D) =9iteTe
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33. JPRR AT 2T @F e 2

(A) fifes (B) SRReIbE 2lTnel

(C) <R O ERIREN
33. pfdAleT IS B W& |

(A) fafsrm (B) TUTEA YW

(C) HHE &7 (D) A<
33. FHIEFT T T F T fed BIH T

(A) fafsrm (B) TUTEA YW

(C) diE™ s (D) IS
34. Which of the following rulers had ascended the throne at Delhi ?

(A) Chand Bibi (B) Rani Ahilya Bai (C) Rezia Sultana (D) Rani Laxmi Bai
34. fxfafe @RS =P M Peree eiE F&E 2

(A) W &R (B) [T =itzew A% (C) (@fe@l peveMi (D) [T eI Al
34. T3 @I = et PrREe i@ SEfReE 2

(A) wiw &R (B) FMoem A (C) FfS ereR (D) AT I AN
34. TREM & FEARTRE feeett Tsfaerme 5 'SiEE ?

(A) =< fafs (B) UftreMfgeename (C) o Yo (D) o1 wi&H! =18
34. fr=fafed § 9 #5991 s fooel i TE W ST o1 ?

(A) i St (B) Tt sifgem e (C) XS Yo (D) T At =8
35. Which dynasty ruled the longest in ancient Assam region ?

(A) The Ahoms (B) The Barmans (C) The Koch (D) The Sutiyas
35. 25 SPT YETF (i A<*{2 A e *(19 Fiafee 2

(A) SR (B) (C) &b (D) o=
35. (N AGEX! 2B SPTN S FIFON FT *e S 2

(A) =ICEw (B) T Q) I (D) pfew
35. 9 TSIhIC STHM HAFHICTe TAEs A §T Qemaid ?

(A) STE'TER (B) FHABR (C) HIER (D) gfaamhR
35. UTEH 3199 & H fohg Taw 7 el 1fyes 99y ae wmee foRan ?

(A) o™ (B) A ©) == (D) gfan
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36.

36.

36.

36.

36.

What is the introduction to Constitution of India called ?
(A) The Preamble (B) The Preface
(C) The Introduction (D) The First Page

SIS MR B S & Ifer (Rl 2 2
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37.

37.

37.

37.

37.

(A) =FR (B) el

(C) #ifww (D) = 7B

SRS IR GIRAIE I 1 2 2

(A) =BT (B) II=

(©) g (D) = 7l

WA WfefSef TR =1 e ?

(A) MBI (B) FwRTA

(C) TIHRA™ (D) &fy foeme

IRA % GIAH 1 YFhT BT 1 Hgard § ?

(A) TEIE (B) UR=a

(©) e (D) el g5

Which of the following is not a criterion for citizenship of India ?
(A) Acquisition of Territory (B) Buying property
(C) Naturalization (D) Descent

e Tz (! OiRes AsiRFeT A 7= 2

(A) g wrfaaz (B) ife @
(C) eRplorael (D) IHE
TIHF (FID SRCSF ToNfFFCea Tewes 77 2

(A) Tee kg (B) F~if€ &
(C) HrerFieae (D) 3<*[e
ARAT AR H=1 TR sfert M ST ?

(A) BT RSHE (B) M WHW SEH
(C) T (D) THITR
frefafed # § &1 91 9Rd St ARG H TS & © 2
(A) &3 1 TR (B) wufd e
(C) ATfaehehTo (D) ¥
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38.

38.

38.

38.

38.

Which kingdom did Sati Sadhani belong to ?
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39.

39.

39.

39.

39.

(A) Koch Kingdom (B) Ahom Kingdom
(C) Dimasa Kingdom (D) Sutiya Kingdom
ST AT (P AT (TS T[S iifee 2

(A) (I JrEy (B) SlCAN ey

(©) foure aren (D) EowI e

ST AT (I ce oo 2

(A) (I <rey (B) SIICAN ey

(C) TGl Arey (D) few ey
REEICKIRIEC RIS

(A) = IS (B) 3T&'H TSI

(C) Teumn T (D) gfc=n TSl

Tl | fhe T 9 Heifera off ?

(A) = TA (B) TR TH

() feura == (D) gfaan ==

Who was the first President of the United States of America ?
(A) George Washington (B) Abraham Lincoln
(C) Thomas Jefferson (D) Benjamin Franklin
SR JERNET AL AR (Fi el 2

(A) o A5 (B) IR ferew
(C) AR (ST (D) @I &FFhw
N IEAT 22w AFAS (& e 2

(A) T GG (B) IR forze

(C) A (TP (D) @G FIE>W
SRR STEerat FIfafee SRRATRET AN ?

(A) TS afdfed (B) 3R feierd
(C) I SHRET (D) ST Yhehferd
G T STHRHT & JIq Teafd i & 2

(A) SISt afeiTes (B) 31oeH feieh

(C) oT9" ST (D) SfHA Shepfem
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40.

40.

40.

40.

40.

Identify the southernmost river amongst the following :

(A) Indus River (B) Godavari River
(C) Brahmaputra River (D) Cauvery River
RS T2 731 SGReE THEFe SRZS T Hale < |
(A) Prxwal (B)  (olMi<! !
(C) =@ i (D) IS 7l

0 Srafema Sy (@I Ao uiwe fieea Wl 2

(A) Prg @l (B)  ColmIRST =t
(C) =wiE (D) ISl
e G EYR ST <A o -

(A) o=y < (B) TIRTE S

(C) SR S (D) <hISRT <
frefafea o 9 9o faol 9 st 789 &L |

(A) ey = (B)  TireTeRt

(C) s & (D) hIeRY S

41.

41.

41.

41.

41.

The sum of the present age of the father and the son is 60 years. After 15 years, the father’s age
will be twice that of the son. The present age of the son is :

(A) 10 years (B) 25 years (C) 18 years (D) 15 years

o1 W% 2/9 TG T (IS 60 T | 15 T 21R0 79 I97 7[@q T019 7@l 29| 9j@9 TO I
&y

(A) 10 9= (B) 259 (C) 189 (D) 157=R

oIl @ 27 TG IACT (@911 60 T2 | 15 T 717 el 297 2[0aqd IR 7@ 203 | 9[0qd IO I35
o5 ¢

(A) 10 3= (B) 253= (C) 183= (D) 153=

arferarere foh AR freeent € SSTeEAn 60 SR | 15 SERH 3 fodfe Srdien framenty
I ST | STIferaTeel fRemet SeieT s 2

(A) 10 9ER (B) 25 9MER (C) 18 9ER (D) 15 9ER

T TR I3 T SRIHH ST 1 AN 60 9 T | 15 9% SIS e it 2T I3 i 377 W SR SFfl | I3 i a9

SR ¥
(A) 10 =d (B) 257ad (C) 18 = (D) 154

42.

42.

m 6 —4
Find mif 2 X2 X2 " _ 512

=5
(A) 5 : (B) 3 © 8 (D) 7
oy 22 X 22_65X 27 _ )12 (ot m 7 i e
(A) 5 (B) 3 Q) 8 (D) 7
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42.
2—5

(A) 5 (B) 3 © (D) 7
2. me R M X 22_65>< 274 _ol2

(A) 5 (B) 3 ©) D) 7
12, afg 2% 265X 27 1 ad mam i

-

(A) 5 (B) 3 ©) D) 7
43. Two numbers are in the ratio 3 : 4 and their sum equals 49. The two numbers are :

(A) 16, 33 (B) 18,31 ©) (D) 24,25
43. (I YOI FRAT] 3 : 4 SRS (R SIS PR @915 (22 49 | FLN YOI T4 ¢

(A) 16,33 (B) 18,31 Q) (D) 24,25
43. W 77 3 : 4 TYATS B(Z G IR (A9 21 49, 7271 96 2= ¢

(A) 16,33 (B) 18,31 Q) (D) 24,25
43. T AT TSR 3 : 4 SR fTURM SSEATRAAT 49 | SHSTHT BT STam -

(A) 16, 33 (B) 18,31 ©) (D) 24,25
43, U THEAT3:4%F UM H € IR TR AMT49T | I T F&AW § -

(A) 16,33 (B) 18,31 ©) (D) 24,25
44. (—1)°+(—1)° equals :

(A) 1 B -1 © (D) -1
44. (—1)°+(—1)° 3 I (27 3

(A) 1 B -1 © (D) -1
44. (—1)°+(—-1)° g AN 3

(A) 1 (B) -1 (©) (D) -11
44. (—1)°+(—1)° 7 = feg -

(A) 1 (B) -1 ©) (D) -11
44, (—1S+(—1)6H AN R :

(A) 1 B -1 © (D) -1
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45. The value of /1849 is:

(A) 33 (B) 43 (C) 53 (D) 63
45. /1849 ¥ W (2T 3

(A) 33 (B) 43 (C) 53 (D) 63
45. /1849 < Wi« 2% ¢

(A) 33 (B) 43 (C) 53 (D) 63
45. [1849 T @M -

(A) 33 (B) 43 (C) 53 (D) 63
45. /1849 HIHAFE:

(A) 33 (B) 43 (C) 53 (D) 63
46. 40% of 60 when added to 60% of 40 would result in :

(A) 40 (B) 48 (C) 60 (D) 64
46. 603 40% I CACO 40 T 60% (9l FRCT Fewe] =J ¢

(A) 40 (B) 48 (C) 60 (D) 64
46. 60 99 40% 99 AL 40 U9 60% 91 FFCeT TP 2(J 2

(A) 40 (B) 48 (C) 60 (D) 64
46. 60 7 40% @i 40 7 60% ST <TSTeisan ST :

(A) 40 (B) 48 C) 60 (D) 64
46. 60 HH40% BT 40H ¥ 60% H e T TROMT YTt BT

(A) 40 (B) 48 (C) 60 (D) 64
47. Addition of two Roman numbers XIV +1V equals :

(A) XXV (B) XVIII (C) XIX (D) XX
47. Bl QNI IR @oreet XIV + IV 202 ¢

(A) XXV (B) XVIII (C) XIX (D) XX
47. 7o @SN A XTIV + 1V @3 (@97 ¢

(A) XXV (B) XVIII (C) XIX (D) XX
47. HFH WE FRNH XIV + IV @ SSTsilsel] /1 JFH 2

(A) XXV (B) XVIII (C) XIX (D) XX
47. < U9 HEmsh AN XIV+IVE :

(A) XXV (B) XVIII (C) XIX (D) XX
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48. (x2-3x—4)+(x+1)="? (x#-1)

(A) x—4 (B) x-3 (C) «x-2 (D) x-1
48. (x2-3x—4)+(x+1)=? (x#—1)

(A) x—4 (B) x-3 (C) x-2 (D) x-1
48. (x2-3x—4)+(x+1)=? (x#—1)

(A) x—4 (B) x-3 <) x-2 (D) x—-1
48. (x2—-3x—4)+(x+1)="? (x#-1)

(A) x—4 (B) x-3 <) x-2 (D) x-1
48. (¥*>-3x—4)+(x+1)="? (x#—1)

(A) x—4 (B) x-3 (C) «x-2 (D) x-1
49. The fractional form of the recurring number 5.121212 .. .is:

-4 5 517 o 57 .-

(A) 90 () 99 ©) 90 (D) 99
49. (TS A4 5121212 . . . T AR FAH! (07 8

-4 o 517 o 57 -

(A) 90 () 99 ©) 90 (D) 99
49. IO M 5.121212 . . . O GARET 09 ¢

-4 5 517 L™ o 57

(A) 90 (B) 99 Y, 90 (B) 99
49. STEATETAE ERH 5121212 . . . 1 SEEE<] 781 -

-4 5 517 o 57 -

(A) 90 () 99 ©) 90 (D) 99
49. ST WA 5121212 . . . 1 AR w9 T

N 37 o 37 o 3V o 37

(&) 90 () 99 ©) 90 (D) 99
50. The total interest accrued on a Principal of I 1000 over 1 year at compound interest of 10% per

annum compounded 6 monthly, is :

(A) % 105.20 (B) ¥ 102.20 (©) % 10250 (D) % 105.50
50. 2% 6% IT© baqia o R FR0E T2 10% 5@ 797 T < 1000 JEES 1 T2 3[T© Gl (ZR 39

o 2AfIe (207 8
(A) % 105.20 (B) ¥ 102.20 (C) % 102.50 (D) % 105.50
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50.

50.

50.

1 IR N EA T 1000 97 TR AR 10% bFian DA @S 6 T b A2 o Al
= ¢

(A)  105.20 (B) % 102.20 (©) 102,50 (D) % 105.50
% 1000 i TrTe SIERIR 10% TR 1 SR IR e fogd, e sRe&sm geat 6 SR o -
(A) Z105.20 (B) % 10220 (©) % 102.50 (D) % 105.50

TeIEA 1000 W 138 H 10% Ffd o o =hdis AN W 6 AT shdls AN Sied W A $a =&
g
(A) ¥ 105.20 (B) ¥ 102.20 (C) % 102.50 (D) % 105.50

51.

51.

51.

51.

51.

If the Minute hand of a clock traverses an angle of 180°, the angle traversed by the Hour hand
during the time is :

(A) 20° (B) 5° (C) 10° (D) 15°

I IGT GO FIRGI Fo! TiteT 180° (it TIfeT s F(F, (SCF ATF ANTS IGIF FI6! TITA oG 41 (il
[k
(A) 20° (B) 5° (C) 10° (D) 15°

T @5 9fea RG5! 180° (i Sfe@s 07, O W3 TR 4 T6[ FoIF 2l Sfow 1 (el
Bl
(A) 20° (B) 5° (C) 10° (D) 15°

Tl e smanfern s 180° @1 AT, B STEIf-2= o FH1el S-el W 91 STeRTHHA ?
(A) 20° (B) 5° (C) 10° (D) 15°

Ifg fordt w1t ot foe T G2 180° T 10T =eldlt ©, <1 SH SR w1 i gS NI M@ 1 0T ¥
(A) 20° (B) 5° (C) 10° (D) 15°

52.

52.

52.

52.

52.

The diagonal of a square is 10 cm. The area of the square is :

(A) 100 cm? (B) 50 cm? (C) 64 cm? (D) 48 cm?
5t 99fF T (T2 10 B | 1A CFaeet (2=

(A) 100 ¢5.fi.2 (B) 50 (5.f2 (C) 64 v.fi2 (D) 48 .f2
9% I9(Cweaa 3 10 G | I5(cwalba Fifet 2= ¢

(A) 100 L.fN2 (B) 50 (if2 (C) 64 (2 (D) 48 (ifu2
HY S @ A1 giEreT 10 9.5, | o SR shifean -

(A) 100 9.f.2 (B) 50 9.f.2 (C) 64 9.2 (D) 48 9.fy2
Tk ot k1 faeRvl 10 I T 1 T A AR |

(A) 100 G2 (B) 50 HH2 (C) 64 qH2 (D) 48 HHR2
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53.

53.

53.

53.

53.

The sum of any two integers is :

(A) always a non-zero positive integer.

(B) always a non-zero negative integer.

(C) always either a non-zero positive or a non-zero negative integer.
(

D) always either a non-zero positive, a non-zero negative integer or 0.

TRICPICT 951 ST AT C9IeT 2

(A) SR O] SR GeTISRR SR L] 29 |

(B) R G5! SM AP S FL] B |

(C) M G TH) LAISIF SN IF A T FLY 27 |

(D) M GF SH) G, G S ANIF D[ P S 0 29 |

T I g5 AP Coree ¢

(A) T GO ST LIS AT |

(B) W @D SI-* el 2ol |

(C) %I T GH(O T L IF | S-H) AT 7| |

(D) 1 2 GO SR IS, G0 SI-*+7 AT 2R %77 |

STrAfESITET A 1" ST STSTerTEa :

(A) SicTEs ARG’ 78 HSTEe T ST |

(B) SiecTesll ARG’ A€ SMH@ o1 T’ ST |

(C) SiccTEsl ARG’ 7E SHSTE TSTeal AlfoRg’ 78 SFE o T’ S |

(D) SiecTEal ARG’ 7S THASTa TSTed Tferd’ 98 M@ o1 W' SHfSH1 TR TSTeel anferg’ |

foR=gl <1 quTienl 1 1T :

(A) TH T - G ol B |

(B) TN Uk TR-II ThRIcHS qUlieh Brell & |

(C) T A T TH TR GAITF a1 Th IR-YF ThRIF qUlfeh B & |
(D) THIM A1 @ T R-F[ ¥, Th TR-IFT ThRIHH qUlish, 41 0 Bl B |
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54. The remainder when 2° is divided by 5 is :
(A) 0 (B) 6 ©) 2 (D) 4

54. 2035 (3 27 FRCA &A% ST T ¢
(A) 0 (B) 6 <© 2 (D) 4

54. 26 (F5 7R O FACE SERB AF ¢

A) 0 (B) 6 < 2 (D) 4
54. 26961 5 S TATSAT ATAHE TREEET STy

A) 0 (B) 6 < 2 (D) 4
54, @ 26 o1 59 fauifad foran €, 9 Suwet 21 ©

A) 0 (B) 6 < 2 (D) 4

55. The square of a smaller number is subtracted from the square of a larger number and the result is
equal to the difference of the larger and the smaller number. The sum of the two numbers is :

() 0 ® 5 @ 1 (D) 2

55.  (3FITN 45! FRATE TIEICHR 519 #[]1 FCHE 919 i {19 SR FeAiere] AN FH19 AT i 27 | AR
YOI 9T (207 ¢

() 0 ® 5 © 1 (D) 2

55. > JTSF TR I97 (AP SCFR0 FUed AL 957 Keilal 51 27 93 TR’ JZSF G Fhed AR
AL AN e TR | AR R @iares == ¢

(A) 0 B 3 © 1 (D) 2

55. HFY g HfSH sniftee A9d frafes safsa sifel eqa's, faft siea o T o fisan
fSHT Wt gaE | o 9 SHfSHfe SrSieraeE ¢

1

(A) 0 (B) © 1 (D) 2

55. forel <1 Gemsll ®§ A S T o1 o oS T & o W ueE S 3R aitomy S gemeti % $fd %
R BT § | S GeAsli #1 A

(A) 0 ® © 1 D) 2
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56.

56.

56.

56.

56.

The sum of the odd numbers 1, 3,5, . . . .. upto 15 terms is :

(A) 225 (B) 125 (C) 169 (D) 196
S RAI 1, 3,5, ... .. T15 51 #ICeT 30 (oIeT (202 ¢

(A) 225 (B) 125 (C) 169 (D) 196
oY MRAN L, 3,5, ... .. 15 5 siv 21 (5 S0 oI T ¢

(A) 225 (B) 125 (C) 169 (D) 196
IS ST 1, 3, 5, . . . 15 foeme famf g -

(A) 225 (B) 125 (C) 169 (D) 196
1,3,5,..... anfe foom g w15 S dh A

(A) 225 (B) 125 (C) 169 (D) 196

57.

57.

57.

57.

57.

The LCM and HCF of two numbers are 24 and 4 respectively. If one of the numbers is 12, then the
other number is :

(A) 20 (B) 8 (C) 10 (D) 6

YOI AN SN SR NG JAGCT 24 SR 4. AL BT @01 AM 12 7 (OCT O] TR 2 ¢

(A) 20 (B) 8 Q) 10 (D) 6

9 R FIALG. G ALY, TAFE 24 3R 4. G5 AR 12 ZaT ) AR ¢

(A) 20 (B) 8 (C) 10 (D) 6

T SRR T8TLHL SR AL A1 RIRG 24 3R 4 | fe ST HH8an 12, S8 sHfswm -
(A) 20 (B) 8 (C) 10 (D) 6

T HEAH 1 AYTH THYEE IR SoAH FHTIEde ARl 24 3R 4 ¥ 1 AfE T HE 12 ], @ g e
T

(A) 20 (B) 8 (©) 10 (D) 6

58.

58.

58.

58.

58.

Let all the months of a year is of 28 days. If January 1 falls on a Monday, then April 28 will fall
ona:

(A) Friday (B) Sunday (©) Monday (D) Saturday

([ @R A (@ G5 T/ TN A 28 e J& 1AM 1 SRR W00 CIRRIE 2, (9% 28 «fem
IGOESE

(A) STFAF (B) @R (C) IR (D) =
R IR(E I A 28 e | AWM 1 SRR EIISRIR 23 O3 28 «fele] 203 ¢
(A) BEFR (B) s (C) @IEE (D) ===

T 1 S SIERM TS el 28 I’ 9| e 1 WHaRIETe GHer et Tsell, 28 Tfgerante a1
S ?

(A) R (B) TeEX (C) ¥HIR (D) e
A R T 9 & 9t wfes 28 oAl 6 2 ¥ 1 Afe 1 SHad &l SieR g=d B, @1 28 ST I 9eT ¢
(A) YERAR (B) Ioem (C) HHaR (D) ¥HaR
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59.

59.

59.

59.

59.

If m is a digit and the number 46 m 23 is divisible by 9, then the digit m is equal to :

(A) 1 (B) 0 © 5 (D) 3

M m @S GBI WF R S 46 m 23 FRANC! 9 (1 KOy =, (OCF m I e I 29 2
(A) 1 (B) 0 ©) 5 (D) 3

W m 2@ o7 I o= T G 46 m 23 IR 9 7 Torey &7, O m =G A
(A) 1 (B) 0 © 5 (D) 3

I m 3T A" FHERH 3R 46 m 23 SHSHET 9 i TSI, STl o SHSHET 6 -
(A) 1 (B) 0 © 5 (D) 3

AfE m TH JOTA! 1 Tk 37k ¢ 31X T 46 m 23,9 & fa9sa &, @ 3 m SR 7 :
(A) 1 (B) 0 ©) 5 (D) 3

60.

60.

60.

60.

60.

A garden has p numbers of trees. Every tree has q number of branches, every branch has r number
of sub-branches and every sub-branch has s number of leaves. The total number of leaves in the
garden is :

(A) ptqtr+s (B) pq-+trs (C) pgr+s (D) pqrs

(Il 9= AR p il o7 SRl Aforeion awe q A =i, dfSG! MAS 1 FRUF THAI Sl
ATSTH! TANAS s ARAF 2ATS A SR | AfoNRLTS 2! 7YY 21T AR (202 ¢

(A) p+q+r+s (B) pq-+trs (©) pqr+s (D) pqrs

GG AN p AU AR TRCZ | &AlS(B MR q R I ACACE, AT * 4 r ALUE TN AR =%
256 THIAT s AT #If! FCACR| AN I NS AR 247 ¢

(A) p+q+r+s (B) pq-+trs (C) pqr+s (D) pqrs

Y fIIRae o p S S | ShHel SHSTe HIF q {1 8, el HAhIHs 6 | r <1 i € s
%! SemE-fRar T s foems €1 o faemeniame mad faes <€ ?

(A) ptqtr+s (B) pq-trs (€ pgr+s (D) pgars

Tk i B U o & p € | Y Ug § st 4@ q 2l €, sk v § Suemensti it He ¢ At
T IR g Iueman H uftEl % §e s Bt § | i H ufhdl e 9en i

61.

61.

61.

61.

61.

(A) p+q+r+s (B) pq-+trs (C) pqr+s (D) pqrs
The first modern Olympic Games was held in :

(A) Athens (B) Paris (C) London (D) Berlin
A YRS TR (35 Fo TP (ZwT 2

(A) @ (B) o= (C) @ew (D) aIfetq
SIS SIfeiwle PTel SR 2 ¢

(A) e (B) =mifa (C) = (D) aifefq
sAter@Erert ffafaq s1'faftaes SerReEER=T 981 S ?

(A) TrH (B) ufw (©) wved (D) e
T ST el Tt Fel Tt o6 T & 2

(A) TdH (B) uRw (C) A (D) dfeH
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62. Which of the following statements is incorrect ?

Thomas Alva Edison was deaf.
Apple is related to discovery of gravity.
The brightest planet as seen from earth is Venus.

The chemical symbol for sodium is Sd.

o

62.

(A)
(B)
©

(D)

~
e

e (P! Sfe oag 2

2 weTel «fEn aft S |

el TR SNRERT GICe AT T90F <z
7RI #2172 SBIRSC Tege B! ST |
RGNS IR H=Co! 2z Sd |

62. <IB (i [YFeb orem 2

B Sierel G A foe |

o MR SRFIER AL TS |
w7 2JfAT (A (L A Tege 22|
SRR AP 261 261 Sd |

62. TRME T 9« foagfomn g T ?

T ATAMT Tfeg T STmHH |
ST HeA1 WA ST fhemeer T < |

Yeh T ' FEAMBA TSR AR Siar U8 |

gfeamfa A feferferm sd |

62. Tr=fafEd § 9 SiH-91 oM Tord & ?

AT 3Tcd Tfedd a8l 9|

T 1 Fale TEcrhy vl i GIe H T

Yool ¥ <@ S ATl Ferd FHehiet U8 I T
Tifeaw =1 TEEE T Sd ¥

GET IT ON
Google Play
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63.

63.

63.

63.

63.

In a family, the sum of the present ages of the father, mother and the only son is x years. Aftery
years, the sum of their ages will be :

(A) 3x+y years (B) 3 (x+y)years (C) x+y years (D) x+3y years

51 SAfRTNETS o, TG S GFaE 2@ TSI RPPTIZS 2 (91206 1 I2F | y I27< 7S (€I TR
I (FA T ¢

(A) Bx+y3I=F (B) 3 (x+y)I=R Q) x+yI=R (D) x+3y3I=s

@35 ARG GFew o1, ol TR GG 2J7G TS T (9IFe] ¥ T | y T 1 I N (91T
PG

(A) Bx+yI=H (B) 3 (x+y)I=R Q) x+y=A (D) x+3y I

T 99 7 @R forr, o TRy Rt sEiet 519 ¢ SER |y SR 39 fodr sEif

TSI SIe —
(A) 3x+y dER (B) 3 (x+y)dER (C) x+ydER (D) x+3y dER

T URER H T, A 31 gehalid ¢ St IdHE ST 1 AN x 98 E 1y I % 9E, STk g H AR S
(A) Bx+y T (B) 3 (x+y)ad (C) x+y=d (D) x+3y a4

64.

64.

64.

64.

64.

In which field did Bhogeshwar Baruah excel ?
(A) Athletics (B) Swimming (C) Badminton (D) Football

(ST IRAIZ (I CFaS Aol e SRR 2
(A)  @EmH (B) WTol™ Q) @G (D) ToI&

(IR IF (I G0 AR 2
(A)  STILEDH (B) o= (C) TG (D) ToI&

YR SFEAT o fIRMHTE SRET-HRaHIA ?
(A) Tifaed (B) WFfEAM™ (C) dsfi=d (D) Gdad

Ager ar%eT A ford &9 H Iahwe yeeA fohan ?
(A) Tt (B) T (C) defHed (D) Festa
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65. The Ramcharitmanas was written by :

(A) Kabir (B) Veda Vyas

(C) Adi Shankaracharya (D) Tulsidas
65.  FBION o= F| ST (2R ¢

(A) = (B)

(©)  wIfit sz (D) wemmE
65.  FIAGHONT (=12 e 3

(A) == (B) @

() i *=mR (D) gETIMMA
65. THARTHARRE! GR fae=HE 2

(A) HIR (B) €% =

(C)  3nfe ishrem (D) TaAfEE™
65. THARGEE TS9 foran = o ¢

(A) HER (B) € =™

(C) 3mfe e (D) qerdie™
66. In which Continent is the Amazonian Rain Forest found ?

(A) Europe (B) North America (C) Africa (D) South America
66. SINEHT THTE (FIFIT TR SHES 2

(A) TT@EA (B) TwwERF (C) wfE (D) Wi SR
66. SINIGH MBI (P T SRIZO 2

(A) @ (B) T&wwiwRE (C) wfFw (D) Wi S
66. STHSH 3TN 3T 96l TRRAEE ?

(A) T (B) W - 3wl (C) 3MftReh (D) G - ST
66. STHSH &t Il o9 e TRTE § §?

(A) 9 (B) U0 sHR@  (C) ST (D) sferor s
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67.

67.

67.

67.

67.

Which of the following is responsible for converting milk to curd ?

(A) Actinomyces  (B) Lactobacillus (C) Fusobacteriota (D) Malassezia

MNITE ™ o1 Foleie T (e MRS (@HRe g dz w1 2
(A) 9fFEEpe (B)  IFCEbeR (C) TREERAGI (D) e e™

5 (I T WBlS HoHEE G W 2

(A) SOfFEWEPM  (B) SUGRITEM  (C) FONURGRSE (D) Sy

MRS BHE S e MEEERal SR ?
(A) TfeRA'ArsaY (B) IR 'dfqaH (C) FHeHIE'a (D) weiSE

¥ 1 T8 H e % fau frefafed § 9 9 SR €2
(A) TfRAmEaS (B) dERISTgeH Q) WEEFEIRER (D) WS

68.

68.

68.

68.

68.

Origami is the art of paper folding that originated in :
(A) China (B) Korea (C) TJapan (D) Cambodia

o ©ie F1IT Tl SRR Tesife [b oo 2t ¢
(A) B (B) (ifezl (C) @lsE (D) JcFifeal

S9N =1 @6 Flee ofe e 717 Tesife el ¢

(A) b (B) I (C) ol (D) caiw
STt FeE AEMY o foers et enfagen 1 e SErsT |
(A) =M (B) ohiTal (C) SIUH (D) k% 'Tea

RIS HISH ohl shell SUTETH o6t Icafa 5w <o 7 g8 of -
(A) == (B) hIfta (C) S (D) haifea
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69. Near which town is the Da Parbatia gate located ?

(A) Tinsukia (B) Tezpur (C) Silchar (D) Barpeta

69. (I BZFF TS 7 ALS T (O1Fe SRIFS 2
(A) fefpam (B) (O&7F (C) et (D) J]CoiG

69. W ARSI A (I *IZEF F(Z SAAFS 2
(A)  TomgRma (B) (&7 (C) Tema (D) IR

69. T’ gddral gX@ 37 & AR W € ?
A) fargfean (B) WS (C) faer=r (D) =RUar

69. T gdfqan e forg vl & a feem §2
(A fargfen (B) WS Q) faa=r (D) Y

70. What is the currency of Indonesia ?

(A) Ringgit (B) Dinar (C) Rupiah (D) Shilling

70. YIRS J@F 1% F 2
(A) e (B) T=lm (C) = (D) fifere

70. SRR 4@ F 2
(A) ffre (B) T (C) F (D) fafer

70. 3= 'Afgaf @i @2
A) R (B) feIr (C) ¥ (D) fofed

70. SSMIYET ST HET 1§ ?
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71. Which country is known as the “Land of Rising Sun” ?

(A) China (B) Japan (C) New Zealand (D) Indonesia
71. (R O TR S o sl SRS 2

(A) B (B) G ©) fTefEters (D) Breiefe
71. IR o TR 90 ol qce Ao 2

(A) B (B) G ) fTefeeme (D) ErwIEmHR
71. & TREE!  WH ST g’ B I8 2

(A) =M= (B) A ©) frfsers (D) = "Afga
71. o9 930 RS A W F AW Y S S S 2

(A) = (B) S Q) =it (D) T
72. Rabindranath Tagore was awarded Nobel Prize in Literature for :

(A) Ghare Baire (B) Gitimalya (©) Gitanjali (D) Gora
72. (IO 6T A I SIFE ARG G 61 571 Fi[fw 2

(A) WEIARE (B) Moy C) Meigl (D) cotal
72. AL IR AT (T 2R A IFEER @ 2403 & ¢

(A) WEARE (B) Moy (C) Meigl (D) con=l
72. ST AT YAATRE Tl ATE! A’ e B STl 2

(A) TS (B) ferferern (C) Trdreedt (D) T
72. TEEAY SR FI e Hfa & fau wifecr # o EeR § i feran 7a o1 ?

(A) B ST (B) THifHTeH (C) Trarsital

(D)

TR
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73.

73.

73.

73.

73.

The highest gallantry award of Indian military during war is :

(A) Maha Vir Chakra (B) Param Vir Chakra
(C) At Vishisht Seva Medal (D) Ashoka Chakra
JET S OIS R AR 1217 A g 61 (== ¢

(A) TYIvF (B) =¥ T bT

(C) wfs RS @Rl “ws (D) ST b
TEFIfeT A SRS AMNRS I 17 D TG 7% % ¢

(A) TR (B) 2R IFbE

(C) wifs RS CRI (Iws (D) ¥ b
TEET-THTE YRATR AEfYEFS 8RSt st e

(A) TRIfeR =5k (B) WA o =ik

(C) afq fafere |an A (D) 379k =h

I5 % SNH ARATT 1 T Falte SRl R S :

(A) HRER =5k (B) WHER =k

(C) Afa fafere Fan we= (D) 379l <%

74.

74.

74.

74.

74.

August Kranti with “Karenge Ya Marenge” slogan was related to which movement for India’s
independence ?

(A) Non Cooperation Movement (B) Quit India Movement
(C) Khilafat Movement (D) The 1857 Sepoy Mutiney

“PRLE T TERE CENNEE DB TS O FIFTOIN 20 I (GBINCE! NI 0 FH S ?

(A) PRI ST (B) TIF® sl ST

(C) TRsree SN (D) 1857 5=« o2l fRcmiz

PG I SR T TR (FANAG O AT (e S AN 7l et 2
(A) SPICA SCHIE (B) SIS QT SNCWE

(C) TR=ree SN (D) 1857 @7 Ti#iid} Reaig

* AT TeTea AN T AT STATE foRmmaramen o HHTaERARTS Sl § 2

(A)  TESISRITY HHEHRA™ (B) ¥IRA ANTRAT HIHEHRAA

(C) Taamra FHEERA™ (D) 1857 " fHurg fsmmam

“HE A HE AR WY ST Shifd WIRA St TSl o fow fohe Ao | dafua oft ?
(A) STHM AT (B) IR BTN AdreH

(C) Taamwa siger (D) 1857 =1 fourdt fose
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75. The national flag of which country features a dragon ?

(A) Bhutan (B) Singapore (C) Japan (D) Myanmar
75. (L (R SIS OIS (G9s B WI0R

(A) gBH (B) fealisfs (C) @i (D) SIS
75. (I (0 GIOT AP Gloltel &< WCR 2

(A) OO (B) PErs= (C) ol (D) SRR
75. 99 g RihaEd 37 € ?

(A)  HdH (B) fEmR (€) S (D) FHR
75. o 29 & U e W ST Afehd § 2

(A) M (B) oM (C) S (D) MR
76. Sharp pointed teeth inside human mouth are called :

(A) Molars (B) Canines (C) Incisors (D) Premolars
76. W2 YT [C0Te 4 (B, (Slel Mo (@Il 23 8

(A) (RTVS (B) (TU® (C) ITTwlo (D) #[ATS uhe
76. R YLAF (SO LR I WioC <@l 27 ¢

(A) (o9 wie (B) (2 WS (C) Fequre (D) SaeRe nhe
76. WA GASTE AHE SHR STERET A B 2

(A) BT EIEH (B) HITIE™ (C) T TAE (D) T gri B1em
76. T % Hg % ST TRl Tl I Fel ST

(A) =i (B) Y& (C) Fd=® (D) 3T =evih
77. Who conferred the title of Kalaguru to Bishnu Prasad Rabha ?

(A) Rabindranath Tagore (B) Bishnuram Medhi

(C) Subhas Chandra Bose (D) Sarvapalli Radhakrishnan
77. RRgeRv Aol Falas Sofy (e enle SEfee 2

(A) S SFI (B) g cufy

(C) ToRbvH ] (D) AT IR
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77.

77.

77.

=g 2w Areics FereE TaAlfy & Meaferew ¢

(A) T IR (B) fa=gam wfy

C) FeR ™I (D) R A
“orarre’! o @l far) T qe | S ?

(A) o= T g (B) feroum #fy
(C) | == o9 (D) Helgeel! THTHH
TSI] JETG T 1 SHAIRE ohi UMY foher < 2

(A) TETEAY TR (B) forooe Aeft
(C) v =g o (D) Heucdl qLHFWH

78.

78.

78.

78.

78.

What is situated at the confluence of three streams Sandhya, Lalita and Kanta ?
(A) Vasistha Ashram, near Guwahati

(B) Ajan Pir Dargah, near Sibsagar

(C) Malinithan temple, near Silapathar

(D) Garampani hot water spring, near Golaghat

], FfeTo] I FIW JNF (S0 TALRT FAGMZAS (FICo! SRZ® ?
(A) SR AT I ST

(B) Tie7islq AT Serie 7] w9z

(C) Toetviums T7F Mferieie s

(D) CONETRIGT AT I2[ AT T Tl ©F

Ty, ST, IV W3 fonfb Tl 2RI FAHFABE TR(FS
(A) R FE6IS] AT =

(B) fmTisic 6! Sireie e el

(C) el Foadt fewige s

(D)  CoNETICHS oS! araiofifel T el

T, AfAdT SR hI=dT S ARNHIE STEREE TR & < 2
(A) <fTg oT19M, TEER! W

(B) I YR gUME, THerR wreferme

(C) wifafem Af<y, faeThiaR FrerfemmE

(D) TREYHT 5 < G, TeTse e

TeAT, Aferar SR <hial i SrareRisti & g R 3 feod €2
A) dRrs 3TgH, TR % U™

B) 3{SH YR SUME, ™R & 9|

C
D

ifeream dfew, faamegr & o

(
(
©

(D) TREYH! TH UMl % e, MeAHe % 9™
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79.

79.

79.

79.

79.

As on 15t of January, 2022, which of the following is NOT a (administrative) Division of Assam ?

80.

80.

80.

80.

80.

(A) Lower Assam (B) Barak Valley

(C) Hills and Central Assam (D) West Assam

2022 I¥F 1 & SRS AT FRARS (G SR (eP) ATes Tem 2
(A) < ST (B) 3 Golere

(C) ISy @ &y SET (D)  =If*53 pT

TIEF (PR 2022 @ 1 5 SIRT ACATTE SO () Aee 71 2

(A) % =P (B) IR GG

(C) e @ ey ol (D)  #f*5a SPT

2022 I 1 ARl WAt et seen st (Gargank) der 8T -
(A) TR AEH (B) oIk |IH

(C) =Sl SR TR e DR EEE

1 Sert, 2022 w1 frfafad § & F 91 3198 &1 (TRmEiTR) THE & 8 2
(A)  Tere e1EH (B) I el

(C) Teifeat ik e s7om (D) ufvem s/9m

What is the name of the statue placed near Sardar Sarovar Dam in Gujarat ?
(A) Statue of Liberty (B) Shakti Vajra

(C) Statue of Unity (D) Shanti Stambh

FTAIGF SIS IR AHA I 191 ol F41 AfSIEHR 1 {5 2

(A) By o o (B) =fe<g

(C) By o} RUMG (D) =% %s

YSRGS I ACRIRA A0 Iz B 67 T F 2

(A) g o ol ®) *fEam

(C) DIy I RGHIG (D) =¥ %s

TORTAH TRER W 'SR =11 WfeEre S@t S @t gef a1 ?

(A) Vg A% faemet (B) e W

(C) VH 3% Wil (D) i Ty

TToRId B TER TER aie & I Tnfad Jfrt 61 a1 W © 2

(A) V= 3w faadt (B) If® o

(C) = ATE Ifel (D) wifd &4
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81.

81.

81.

81.

81.

Which country was involved with India in the Doklam incident of 2017 ?

(A) China (B) Afghanistan (C©) Bangladesh (D)

2017 18 TFEN FET GIOF (0O (FI (7 TG Sifes 2
(A) (B) SIS (C) eIl (D)

2017 AR (CRFATS To17 ST A0 (F (7 T e ?
(A) (B) SIS (C) eIl (D)

2017 TS Shal™ TG o9 8 TSl GCSTTHRISTE A 2
(A) =M (B)  SATHITE (C) dicew (D)

2017 § Siehar™ ST H YR o 91 shiv 91 TN MU o1 ?
(A) =M (B) STHEA (C) divere™ (D)

GET IT ON
Google Play

Myanmar

82.

82.

82.

82.

82.

Which of the following Novels was written by Kanchan Borooah ?
(A) Mrityunjoy (B) Oximot Jaar Heral Xima
(€) Ontorip (D) Asol Manuh

xRS @ Tops Fied 12 o1 FRET 2

(A) Jo&d (B) RIS AT (20 A
(C) eIl (D) SIIbeT g2

TR (I GG Pleer e feTctes 2

(A) TOET (B) SRINI® AR (A& A
(C) =l (D) I5& (2

Wﬁ 3@[ W’IIT@ -t o] R’HIHH ?

(A) FgITsE (B) Afg9d SR =Ua famn
(C) e=Ry (D) 3Tl HIE

frefafaa § 9 SF-91 SU=E s st gRT foran T o ?
(A) TGS (B) 3THIHG SN B0 HiHl

(C) ofadu (D) AEd A
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83.

83.

83.

83.

83.

Which of the following places of interest has been recently included in UNESCO World Heritage
Site List ?

(A) Charaideo Moidams (B) Batadrava Than

(C) Poa Mecca (D) Sonai Rupai Wildlife Sanctuary

e (@R ST ZhF ¢TSI 2SERR e @fey) (Fas Ol S9ee 41 (202 ?
(A) BIZCTS G (B) IbwAl M

Q)  colRt s (D)  GIeliE FoA1Z Il Sreq=e]

fefie ST gaelm S @b TS TeEe e afezRR 2er ol sTude 2 ?
(A) DARTS =N (B) 5wl A

Q) ol = (D) CINIZ FoiiZ IVAIT STex=e])

s 7 retie, IR s sigeni sfwe (UNESCO) 9gAA1 QR ST TIRersste e
T T8 ST S STTe) 2

(A) =Eed HeM (B) SeEEN UM

(C) 9'dl HeRhl (D) ®'ATE ®UE AR A7 g

fFrefafiead o | frg st Toret st =t €1 | A%kl (UNESCO) forear forrerd woret =t # snfher feran T
8?2

84.

84.

84.

84.

84.

(A) =SS HiESH (B) gl oA

(C) T HeRRI (D) WIS ®UE S=AS(1d AHIRTT
In Assamese literature, who is known as “Ekhud Kokaideu” ?

(A) Nabakanta Baruah (B) Medini Mohan Choudhury
(€) Kumud Chandra Hazarika (D) Kamalakanta Bhattacharyya
SRR AIfRST® “Gyn FHRBME” A FIF Gl I 2

(A) TG I7A (B) (AWl GAIE (HIYST

(©) T o™ FGf (D) RIS OISR

SRR AL (& “yn FHEWMS” A “Iffbe 2

(A) TG (B) el G (GIST

(C) T o™ el (D) TG ©BHR

TG YAeEeTs W@ ¢ e & 'HEed’ A fafe 2

(A) oI a%al (B) HfeH wea =ed

(C) FH o= T T (D) hHTeRI< WgT=

sTafen wifec # ' TR Feres’ & AW 9 foRd ST S © 2

(A) Tohid SBT (B) HfcH wed =

(C) FHS == T (D) HHeIThid W=
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85. Which of the following airlines does not exist anymore ?

(A) Spicejet (B) Indigo (C) East West (D) Vistara
85. fINFe (FRE! [ 107ia Sy IO e «iF 2

(A) ~RBTEE (B) Zfwar ©) T (D) fewmi
85. WICHe (Pl R I W (A O g (7 2

(A) %A (T (B) Zfetall (C) =5 ew@H (D) fow@l
85. TIETH ol foRw hTetifit g rfergretre et ?

(A) Y S (B) sf=n’ (C) =& =% (D) fueam
85. frafafed § & ®H-H Tavar o@ sifaa # 761 § 2

(A) TEHSE (B) gfem C) o= (D) foram
86. Which sport is the Davis Cup played for ?

(A) Badminton (B) Table Tennis (C) Lawn Tennis (D) Cricket
86. (TfoRFI (SR (479 AN (LN = 2

(A) @CREIB (B) (BT Bz (C) =W (Bl (D) fees
86. (PN FILM (Ofe™ Pl (1 2 2

(A) TS (B) (BRel (G (C) =W @R (D) feco
86. Sford =IE! e FCEARMEN @M et ?

(A) wefged (B) o <9 (C) =+ = (D) ToRee
86. <faw %4 fFd wa & forg wen S 2 ?

(A) defied (B) <o | (C) @ f= (D) Toehe
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87.

87.

87.

87.

87.

Sunlight helps in producing which Vitamin in a human body ?
(A) Vitamin C (B) Vitamin B (C) Vitamin D (D) Vitamin A

IR (ARE YT TS (AR OB Tesves 721w 31 2
(A) fBifim C (B) TeOI= B (C) TSBIffm D (D) TeBifsE A

S0 ST AR (i FOBIfR (ot F0e 712 I 2
(A) TBIfE C (B) TeOIfSe B (C) TSBIfiM D (D) TSI A

A ST wegen se it drfseE ?
(A) fwefga C (B) fwerfa B (C) fwarfda D (D) fwerfgT A

T 1 g™ AHE IRR H fory faerfim o 3eared # weg Har § 2
(A) faaf C (B) foerf&= B (C) faarf®= D (D) foerf A

88.

88.

88.

88.

88.

Harihara also known as Hakka, and his brother Bukka Raya, founded which kingdom ?
(A) Chalukya Empire (B) Vijayanagara Empire
(€) Chola Empire (D) Hoysale Empire

G MEe AR 221 O (€1 TIe 98 T (Sl Ty o) e 2

(A) BRI ASEy (B) oo A=y
(C) T AiETEy (D)  (ZlleTl Ay

2z [ 2 e Affoe w3k oF ©f2 391 A @ At dfewt FfEm
(A) BRI ASISy (B) Rezmor AErey
Q) G A=y (D) =% Ay

R, ST gareht SaTal Tafersran, o1 faf e Skt T, o TESie! MEEAeH ?

(A) =TT FRTHSH G IRESEEUEIENRE]

(C) = HHUFS (D) SIHAT HHETFS

R, T8 gkt & 19 9 oft 1 1 §, ST SUk W1 JFhT T 7 foh W Shi RO it 2
(A) =TI HHA (B) oS TR 94

(C) = T (D) TS IH
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89.

89.

89.

89.

89.

Which of the following is a non-renewable source of energy ?

(A) Wind power (B) Hydropower (C) Solar energy

fferie e (@G «feq SMIFeialf T 2

(A) e (B) Ee™ie ©) vheife
TR (@ SRR e T 2
(A) I e (B) welgexfe  (C) =&
HIERIEECERIINIERI BRI S PR e
(A) @R - dral (B) < - @l (C) O wfert

frefafed # @ sF-a1 F= &1 R-TdiH0a Eid 8 ?
(A) T FHet (B) < foregd (C) IR

GET IT ON
Google Play

Fossil fuel

G 3%

G G

TS ST

SIEIECRECE]

90.

90.

90.

90.

90.

Saptakanda Ramayan was written by :
(A) Horibor Bipro (B) Madhava Kandali
(C) Ananta Kandali (D) Hemo Saraswati

TEFE Y I AR 2

(A) 2Ry (B) SNz Fwlel
(C) G I (D) G FTHSI
TYFIG TN Ao FCARCE ¢

(A) 2R (B) ¥ et
(C) g I (D) (= ATTS!
TGHE THETE! GR fee e ?

(A) BReR fag’ (B) HI¥E wHUSal
(C) = HUeSe (D) oA’ W&
TGH0E A Tohreh gNT fawet T8 ot ?

(A) BRER forg (B) HI¥d shafal
(C) oa Hafd (D) T Lt
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91.

91.

91.

91.

91.

GET IT ON
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Which of the following countries is NOT a permanent member of the United Nations Security

Council ?
(A) France (B) China
(C) India (D) United States of America

RS @R o AT [Naisiel wifkaws 2R swop 79w ¢

(A) = (B) B

(C) wike (D) Sl J&1T
Toa (@ @it eifeviccar Faisiet #ifiom gl e w1 2

(A) =™ (B) B

(©) e (D) = =g
TG B 916 TIEl T8 81 T@1Y STRIEH S WG 7T ?
(A) P (B) A

(C) 9Rd (D) SAHRERT ST TTEX

frefafed 5 9 1 91 <9 9 T GRaf 9RuS o1 TRl 99 & © 7
(A) e (B) =M
(C) wnd (D) I T TR

92.

92.

92.

92.

92.

Which of the following movies was not released in 2023 ?
(A) Jawan (B) Animal (C) Pathaan

s @me safeg 2023 57 IfE (it wifee
(A) &= (B) «fqcaret (C) =M=

THA I 5eAB6a 2023 A e AR 2
(A) TeIN (B) wIfersTIE (C) M=

M o9 YEYTE! 2023 HELTEAE TRA™ S 2
(A) & (B) W@ (C) &M
frefafea & § wR-9 fhew 2023 # fefis 78 g8 ot ?
(A) SEH (B) TfHw (C) TeH

The Kashmir Files

I SN FeTR

I BN e

T HIAR FET

T HIAR FEd
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93.

93.

93.

93.

93.

As on 1%t of January, 2024, who holds the portfolio for External Affairs in Narendra Modi’s Council
of Ministers ?

(A) Dr. Subrahmanyam Jaishankar

(B) Smt. Nirmala Sitharaman

(C) Smt. Smriti Zubin Irani

(D) Shri Kiren Rijiju

2024 5 1 & GRS ACATTE @ (IS @l #Afare @S 2IRewT 77 I ¢/ TS =R ?
(A)  To O SRET

(B) @rrS! fsfa ol

(C) &St g g 2t

(D) & fca faferg

2024 @7 1 3 SRR ACCE IE@" (MR TG 2w @i R veE@= vikieg & oo 2

2024 HFTEM 1 SR WITAfeH = HIGH= Hi=2 STREHERR sl SrgsTR grent e SR g ?

A) T YIEUIH SR

(
(B) et foefen Hiarmo
(
(

1S, 2024 1 g At i1 AEaiue 7 fogw 4o &1 39R fads T 82

A) Sl GoIEIgH SEva

(
(B) iwcit foefen Hiarmo
(
(
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94. Which of the following is NOT an IPL team ?

(A) Delhi Capitals (B) Gujarat Giants

(C) Sunrisers Hyderabad (D) Lucknow Super Giants
94. RIS 7727 (FINCH! SRf7lae wel 72 2

(A) Al e (B) WTAD TTTY

Q) RWRITEE FIvEAM (D) #CH! 2 SR
94. IO (PTG SR . 4e1. wel 7T 2

(A) T FifoGEm (B) TG SIHDA

(C) ARizEn ZrmRm (D) CH oI SIRGH
94. TR &« HHAT 37 7 et 4 el ST 2

(A) Teeedl shiydes (B) TSHI SETAH

(C) HMUESRE BEIER (D) dETS AR ST
94, frfafed § @ F9-5 o o wat I 78 €2

(A) feeedt siveed (B) W SHZH

(C) HTIESH TG (D) @S g S

95. Which of the following is highest, among ranks of the Indian Army ?
(A) Brigadier (B) Lieutenant General
(C©) Major General (D) Lieutenant Colonel

95. SRS W *MIPTes fooss NHFERS @G AR 2m 2

(A) feaifeas (B) (TG (ST

Q) CTER (SR (D) ETFCHECG el
95. WIGA (FAD SO EHRIRTR ATRMISTER T A 2

(A) feaifens (B) (FTFCHIT (SR

Q) CToR (SHIEE (D)  (ETRCHIG el
95. TR ToA RAT @1 gt SHfe o 2

NERERII (B) Thd= S

(C) R SR (D) AFH= Fd
95. fr=fafed § @ M IRA™ 1 % (i § gar= § 2

(A) forifeR (B) e SMd

(C) TSR SIRd (D) dfRsc &Ad
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96. What letters would fill the blanks in

AO__BPP__ __ QDR__ _ SSFTT

(A) OCREQ (B) OCQER (C) OCQRE (D) ORQCE
96. (MG 3 AR AO__BPP____QDR__ _ SSFTT 3 & ZPHz 7[5 F< ?

(A) OCREQ (B) OCQER (C) OCQRE (D) ORQCE
96. (I Iefefer =g 2)f T 2

AO__BPP__ __ QDR__ _ SSFTT

(A) OCREQ (B) OCQER (C) OCQRE (D) ORQCE
96. I TGRS TGl STEAT 3776 WA S ?

AO__BPP__ __ QDR__ _ SSFIT

(A) OCREQ (B) OCQER (C) OCQRE (D) ORQCE
96. AO_BPP__ QDR ___ SSFTT # fiad TIH @l i T 318/ Wi ?

(A) OCREQ (B) OCQER (€ OCQRE (D) ORQCE
97. Statements: I.  Non-metro cities in the country have been suffering due to load shedding

97.

for quite some time.

II.  If the Government is not able to overcome the power crisis, load shedding

will be extended even to the metro cities.
Which of the following conclusions can be drawn ?
(A) Both Statement I and Statement II are effects of independent causes.
(B) Both Statement I and Statement II are effects of some common cause.
(C) Statement I is the cause and Statement II is its effect.
(

D) Statement II is the cause and Statement I is its effect.

e ¢ I R GGl REM 523 TR (T (+ifes Ata T e #191 38 ofl wniferz |
II. I I Rges AE0 V1 SR GRIGE, (O0F GG 52T MRES @I (i Ao

2q|
Fxfeie @G faies Toare 29 «ifF ¢

(A) ¥f& [ 9= T 11 7301 F9F FFeR AE (@[ doK |

(B) Tf& I W= Tl & 11 75! (@I Toaze I F°F A (@1 Ae |
(C) T I (zrzg T o1% i 11 (202 27 2e[ |

(D) ¥f& I (T2 19 9% Tfe 1 (202 371 4[|

Paper-1/ A 46


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda@47

97.

97.

97.

R[e: L @ g @2 Ry 2612 @1 &) (MeoR F9-CI08] =28 STe 9ol |
1L RSR Ry 730 PR BT =t R0 (G *=eas Rigje 2o oIS 2@ |

e TR @n TopiaRtee i i 2

(A) Tex {1 @z RO 11 7T Sl @ |

(B) Tox fR3fel 3 RJMO I w2 TR 2o |

(C) TIfe1 == Firel «ag /IO I =1 ~Ifeiis |

(D) Tz Fiel @k YRS =1 ~Ifeiisn |

foefaic: I AR 98 FRRERT S ged Hifsed TRAM™ (Load Shedding) T STa amaf o
g GRIFAN ST |

I S TER Hifserd MR SAieareral Qg g Hifserd TR FRATRR f6m T |
UHRIEEERSIERINEEIRI SICEIF R
(A) Tesifer 1 o farsfer 11, Hmesi Sai STeE <sT
(B) Taafer 1 o1 farsifer 11, Hmal "o SRAfT S
(
(

C) fagfar 1 o1 M o faeifer 11 o7 fafy S
D) fadifer 11 en SEM S fargifer 1 e faifs S

HIT: L IR IR-TII IR HE 9T Y e AET B wHen ¥ 5@ ©@
II.  37R SRR fosiell Gehe ¥ 3ok Tal U8 o1 oire TS 1 ST B2 3l e off =g S |
frefafed § 9 &9 @1 fend e s g € 2
A) HITI RFHAT 11 I T HROT & JuE
B

HUT I AR FHYA I I fFE G FR0 & 9 © |

~

(
(
(C) HITI HRU T 3R e 11 THH J9F T |
(

D) YA 11 SR § SIRHYA [ THR J4E ¢ |

98.

Five cadets Charles, Harmit, Om, Piyush and Tapan were asked to pick up one each of the geometric
figures : a circle, a pentagon, a trapezoid, a hexagon and an octagon. They had a condition that
one cannot draw a figure which has a name with same first letter as that person’s name. Om’s
item has exactly one pair of parallel lines. Charles, Piyush and Tapan picked figures with more
sides than a quadrilateral. Piyush as well as Tapan’s figures had lesser sides than Charles’figure.
Who picked up the circle ?

(A) Harmit (B) Charles (C) Piyush (D) Om
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98. #if5 S_IF! (BTG Charles, Harmit, Om, Piyush ¥1% Tapan ¥ Circle (J€), Pentagon (#1%¢%1), Trapezoid
(G, Hexagon (0% % Octagon (HgE) wifn Sifsfes I(lSu‘MkLQﬂ GEFoIC i '3 @l
T | 5% T (T (OSTEHAIRT A AR SRR (0O (SEENE U (-1 Bas T[S s swvael e
@RI @ 9 @ Om < oae 5% QeI FTEIeT (921 A | Charles, Piyush < Tapan 3 b@© 4
TR PTCTH APRATS(F ST | Piyush ®I% Tapan I @® Charles I bae(s T A A2 ACF |
Circle (3€) ! e Ao teifea 2
(A) Harmit (B) Charles (©) Piyush (D) Om

98. ifoee g RFIST (ITIC96) Charles, Harmit, Om, Piyush @<} Tapan (F wififes oa Circle Fe),
Pentagon (A1%g%), Trapezoid (cGfifemm), Hexagon (I¥ge) @3k Octagon (W@W) G @ e
@3> @0z e 391 Zafes | sl @6 =6 redl st (@ ozt acers @ «3f foa e st =1, @
Dafba T 2 SFFT OIZIF TN AT SFFEE Al @21 Om «F Halbre 0F et Iuais @3l
JCR| Charles, Piyush €<% Tapan BOSCEH (b (A1 ARiE foa @z s | Piyush @R Tapan &
f50@ Charles <3 5@ (2F 3 312 &7 | Circle G\) T (& wreTles 2
(A) Harmit (B) Charles (C) Piyush (D) Om

98. Hre fafeledl BUTHERR Charles, Harmit, Om, Piyush i Tapan Gl 9 JEw H':l'{f[a:l'lﬁ G
Circle, Pentagon, Trapezoid, Hexagon S Octagon @l 9@ e arifeEel | farfe e g e
SAMME S Tare At g |fy giEsi S JEmiEt e | Omf arermfen S’ fam st 99 |
Charles, Piyush 3T Tapanf SerMRwIRET SR ~ofeif Fife a2 < | Piyush 3R Tapan@l CharlesfH
g WA | Circle Bl WX 9= gt ?

(A) Harmit (B) Charles (C) Piyush (D) Om

98. Ui Hedl Charles, Harmit, Om, Piyush 3R Tapan Hl Teh Th AT a@ﬁr =) ?\Fﬁ & faT =
T : Teh I (Circle), T EEEaL (Pentagon), Tsh HHeI (Trapezoid), Th WS (Hexagon) AR TH
STWHIT (Octagon) | ITeh! I off I hI3 Wl TET SMHfd & o Hehell TSGR STUSH 1 1 I8 &R 39
Hfeq & TS 9 % Ugel 31eR & §HM &1 Om & 3TgeH | YHMIR Y@sll 1 foasa 1 Sien g
Charles, Piyush 3R Tapan = IS 9§ Ao e arett @@ﬁl’ﬁ kil Piyush iR Tapan 1 SRl
I YT Charles i Th{d & %4 off | g0 = fme 33m@1?

(A) Harmit (B) Charles (C) Piyush (D) Om

99. Soniya drives four km towards the west from her home, where she crosses a bridge. She takes a
left turn and the drives for six kmes, till she arrives at the town center. Here she takes left again to
drive for another twelve kms to reach her office. If she decides to take a shortcut on bicycle, what
would be the shortest possible distance between her home and office ?

(A) 18 km (B) 12 km (€) 9km (D) 10 km

99. (R =T #I71 #If*53 wxitat BIfF 6.5l 2l Beii2 q2m welk #1923 | iR A1S I TR =7 6.6l =nie=if Giew
OIS TeifFe 27 | 330 ©iF 77 AN freel 97 =i 317 6.1, 181 5712 oiz wifies sirtal | 9 o2 53 b

BIEeTS (AR P& 717, (O0F ©I29 X1 S SIRFHS AEq Paos B9 7y Bl 232
(A) 18 M. (B) 12 .hL. (€ 9= (D) 10 6L
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99. @I O AT (A =if*6a e o 7., 9l BT, @AE (1 930 @ET Sifoem ™ FE | @1 A Wi (e
(T @R R 680, 9IS BIfeTea 99I= (e (o11=IT | @It (31 ORI Jiiwss e Qi 6660, aiifS siferca =it
TR | (7 I TRERE #itel AR TR Fraie (717, Sizee o Y @3 SIRFER [ Paos 7y Fo
@ ?

(A) 18 .M. (B) 12 R.f. (C) 9 =H (D) 10 =M.

99. wfamn maft 7 'froerr Serafy o fore frer MR S are e far gren 1 s | fa sfafy
fifdam g’ fra'fer oiFM 2RA I=R wied | forll e sRama sfaf fifdam 9 forer firer MRk
HIAAH T Aagfaa diedl | S[fe ol drEchal AraaH g’ ammst arel, faf 97 o Aegfar
USRS IREISIERIRIC I
(A) 18 fa.fA. (B) 12 fw.fA. (C) 9 fwfa. (D) 10 f&.fA.

99. T 319 =R ¥ 9fem ot 3R =R et M = €, el 98 Teh Yo IR il § | 98 98 3R gt ¢ 31k
T Yo U= Tk BT FoRH T TS TR ® | U] 9% STIH HEierd 7 Igen o fae e § a1d gedt §
3R aIRE Tt ek TSt Tt ¥ | Afs 9% e W widwe o 1 ol ot €, @ S9% R iR wafea &
e <A Hea g8 R g ?

(A) 18 km (B) 12 km (©) 9km (D) 10 km

100. Of the following words, which would be the last to appear in a standard English dictionary ?
(A) CONTINENT (B) CONSTANT (C) CONSIDER (D) CONTINUE

100. € STF TIAG SfGHiTS FTHEARS =TEs (GFAG! 7 TR 2= 2
(A) CONTINENT (B) CONSTANT (C) CONSIDER (D) CONTINUE

100. R *rafw T @G g e 3RSl SfeaEa (i avEie 21 2
(A) CONTINENT (B) CONSTANT (C) CONSIDER (D) CONTINUE

100. TR S HRITRR TSRE, S Hiar& HEIH St digre foagsie At Jsm ?
(A) CONTINENT (B) CONSTANT (C) CONSIDER (D) CONTINUE

100. fr=fafEd vsal § 9, A SIS TSy § ST AfqH 98 hi 91 8 ?
(A) CONTINENT (B) CONSTANT (C) CONSIDER (D) CONTINUE

101. Identify the set that does NOT follow the common rule as others.

(A) 2:8:64 (B) 4:64:216 (C) 6:216:512 (D) 5:125:345
101. FPTRS SCaRe R 27l Soreel 7@qt R belie o |

(A) 2:8:64 (B) 4:64:216 (C) 6:216:512 (D) 5:125:345
101. ST TSl G2 AKIRe 72T <ol 71 1 A<l S(b bz T |

(A) 2:8:64 (B) 4:64:216 (C) 6:216:512 (D) 5:125:345
101. TR 99 YU TEARR FRE 9= FH |- ?

(A) 2:8:64 (B) 4:64:216 (C) 6:216:512 (D) 5:125:345
101. 39 {2 I UM L S THA I T T F1a 1 Urer & Ha

(A) 2:8:64 (B) 4:64:216 (C) 6:216:512 (D) 5:125:345
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102. A six-faced regular die always has the total of dots in opposite faces as 7. Four such dice are
thrown, and the top of them shows 3, 3, 2, 6. What would be the total of the dots in the faces
touching ground ?

(A) 15 (B) 14 (C) 21 (D) 17

102. <% -1 g% I siiie e ffmze ool e ket «rmee itz ice @fs [erdts 1 mes ik o
(AI9=FeT ST 7 2| BIfRGT T @R Amiie b wlereare seort iz @ 3, 3, 2, 6 JWE A (orll
S| A TR BN on T FifdTrs ol i U o @i [ 2
(A) 15 (B) 14 () 21 (D) 17

102. &6 fafire = =1 = (2@ 56 ReidTe 5joa K@ iareet @l 7 | @2 4@0eR SIRG 2t f{eesel st 28
GRR SIHE M 3, 3, 2, 6 77 @i | fsl o a1 sjro Rpefm @b isiee T 23 2
(A) 15 (B) 14 ) 21 (D) 17

102. T TG T S 3ol AGhRE oHE fa<if SSmermee Semel 71 Je TE Iea@! Gormam i
AR 3, 3, 2, 6 faf-erel | TRt o HraihRi S -

(A) 15 (B) 14 (C) 21 (D) 17

102. U BE Holdh! fafaa I # gHen faudia wetent | faigail =61 4 7 21 € 1| T8 =R 9 theh W &, iR S
3 W 3, 3, 2, 6 foig fo@rE a1 & | S 1 B ATl Wershl B foigei w1 Het Gr = e ?

(A) 15 (B) 14 @ 21 (D) 17

103. What should be the missing number ?
619115
8 [12] ?
416110

(A) 18 (B) 16 (C) 24 (D) 20

103. SEeIFe ARG 6 29 AR 2
619115
8 [12] ?
41610

(A) 18 (B) 16 (C) 24 (D) 20

103. SREeifFe 74 F 297 TH© 2

619115

8 12| ?

416110

(A) 18 (B) 16 (C) 24 (D) 20

103. A< WU A 376, @Iemd S ?
69|15
8 112 7?
416 |10

(A) 18 (B) 16 (C) 24 (D) 20
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103. 3TUfeed HE& o1 B =fey ?

(A) 18 (B) 16 (C) 24 (D) 20

104. Michael needs to go to university for his test. He started from the East and came to a crossing. The
road to the left ends in a Railway station, straight ahead is the Museum. In which direction is the
university ?

(A) South (B) East (C) West (D) North

104. SECEHCE TR A RReEes O ast | (o€ SR #[1 Ial SIE 1 @B siRkefere Teifye 2|
(ST TNE FIET 2ICH! Bl (510 (F5® (¥ (RLR; AN (2T S19(CaT 51w b1 eferins ez | Reifawsieraas
FICH! e SRfFS 2
(A) Wil (B) =& (C) =if*6w (D) T

104. SEEFEE OF AR T YRR SR A@TH W G 97 0F (AF @ &F F@ GF0 G
1 | MR AW G0 (FACEGHE *1T R, IS AR IV | R (@ M 2
(A) wfE (B) =& (C) =% (D) TR

104. WIEHAT SIS &A1 HTrrcianterare il | ol TSR SHaRaH By T GereHrare Skherd |
ST AR Y& oA Aqraeiedl, disi e BSEmE diedl | geEaireasn g fos ?

(A) Wl (B) HISEl (C) HrrEl (D)

104. 377 2R Tlen & faQ Aigshal o1 favafaane S € | 98 Uel i feen eiehs 3799 =R 9 Y& g1 3R T IR
R TEAT| I AR H T Th Y9 WIH T AT At 71 Sk A H TgF W Y TH IR |
forgaforemers fore foem & &2

(A) <fam (B) T (C) fy=d (D) W™

105. How many milligrams make one kilogram ?
(A) 10 (B) 103 ©) 104 (D) 100

105. ¢ feavtere 3o Fue e e
(A) 10 (B) 103 (C) 104 (D) 10°

105. ¥ Wit ¢ el =3 ¢
(A) 10 (B) 103 Q) 10% (D) 106

105. 99 fhfermdsit 9 foret 'wme S0 2
(A) 10 (B) 103 (C) 104 (D) 10°

105. fohaa faclium @ T foraum™ oar 8 2
(A) 10 (B) 103 (C) 104 (D) 106
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106. Which word features less than four different vowels ?

(A) Promotion (B) Sustainable (€) Question (D) Potential
106. (FCH! *7© HIfGrOCE T AU for fom Feaef wiic 2

(A) Promotion (B) Sustainable (€) Question (D) Potential
106. (I =<rbre bR 5 for ewim wwae o 2

(A) Promotion (B) Sustainable (C) Question (D) Potential
106. TR &l Hiarae sl TH T gl & ?

(A) Promotion (B) Sustainable (C) Question (D) Potential
106. T g # 9”& &7 fir @R o1am €2

(A) Promotion (B) Sustainable (€) Question (D) Potential
107. How many squares can be identified in the figure ?

(A) 21 (B) 18 <G 19 (D) 26
107. &9 foachre RFuias] a5CFa oAl A7 2

(A) 21 (B) 18 © 19 (D) 26
107. = foeg 6 35 e =1 A 2

(A) 21 (B) 18 <G 19 (D) 26
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107. GermiEE 7 oF o A |4 ?

(A) 21 (B) 18 < 19 (D) 26
107. fed T fo ¥ foha ol Te=m < Hehdt © 2

(A) 21 (B) 18 © 19 (D) 26
108. Which of the following is different from others ?

108.

108.

108.

108.

(A) Ammeter (B) Perimeter (C) Altimeter (D) Anemometer
RIS M= (PG AFERF 7L 2
(A) «RoR (B) C(ARRTR (C) wIFSRGR (D)  GEIGR

=N

IS (PING S (A STl 2
(

A) SRR (B) ~UIffIG (C) SRR (D) SpifCIRGE

NIERIECERIRIC BRI NERICES

(A) THR (B) URfHeR (C) Tfrfier (D) T 'THeR
frefafed § 9 sF-w1 gl @ fim g2
(A) THR (B) T (©) et (D) T

109.

109.

Total age of three friends - John, Johnny and Janardhan, whose birthday is on same day - is 84
years. What was their total age four years ago ?

(A) 72 years (B) 80 years (C) 78 years (D) 76 years

D! fete T (2l Fof Tg— &', &I ik Geiie oI 5 (el 84 9% | DI 921 7l (9 STeRT
TR S @ e e 2

(A) 723 (B) 803 (C) 783 (D) 769
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109

109.

109.

oo T3 - T, T TR TS, A7 Sl @62 e - (G 997 84 A=A | B I AIT9l O (WG 30 0
ey 2

(A) 727 (B) 80 9= (C) 787 (D) 769

U™ AFTRR - 5F, ', SARYA, SEf ST GHaare) - SEeT ST 84 sER | Srs fa
forgrf sreren <& 99EH ?

(A) 72 9HR (B) 80 AR (C) 78 ¥R (D) 76 AER

T Sl — i, S 3R SR, e Safen U & fem § - ) a1 39 84 99 ¥ 1 9R Y g Skt
U F it ?

110.

110.

110.

110.

110.

(A) 725 (B) 80 ad (C) 78 7= (D) 76 a4
Philately is related to :

(A) collection of match box (B) collection of postage stamps

(C) collection of currency notes (D) collection of fountain pens
FeTIGfeT feteet Rl s

(A) AGEZ AFG AREZ (B) TR B0 Acerg

(C) TR @ 2T (D) FICCHE (o e

fResIchTow e i 3

(A) RmEE @R A9 kR (B) TR B0 @ Mag

(C) oICe™ @l A2 (D) 3=l T (FIGCDA (21) AAZ

fmet 'qeta |t SrHel 91 2

(A) T SR YA (B) <k feohe gYHT™

(C) i foreTms Y= (D) WA U (YH) YA
fRcteett ey Fafyd © :

(A) wif=" = fesslt 1 €U8 (B) ST fewhel k1 HUE

(C) HgT AR * 9UT (D) TIRH UF I HUT

111.

111.

111.

Which two terms would come next in the series :
24, 26, 35, 63, 48, 124, 63, 215, ?, ?

(A) 76, 430 (B) 83, 310 Q) 99, 511 (D) 80, 342
24,26, 35, 63, 48, 124, 63, 215, ?, ? *RXANGR 277! QIS (T Y61 727 A7 2
(A) 76, 430 (B) 83, 310 Q) 99, 511 (D) 80, 342

e FAMHCS TS| (I 7o AL SR 2
24, 26, 35, 63, 48, 124, 63, 215, ?, ?
(A) 76, 430 (B) 83, 310 (C) 99, 511 (D) 80, 342
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M e B Ui B9/ ge3d 3A1E I ¢ 24, 26, 35, 63, 48, 124, 63, 215, 2, ?

(A) 76, 430 (B) 83, 310 (C) 99, 511 (D)

ST 24, 26, 35, 63, 48, 124, 63, 215, 2, ? | 3T A | & Ug AT ?

(A) 76, 430 (B) 83,310 (C) 99, 511 (D)

80, 342

80, 342

112.

112. ¥f& s

112.

Statements : All pencils are pens.

All the pens are inks.

Conclusions : 1.  All the pencils are inks.
2. Some inks are pencils.

Only 1 conclusion follows

B) Only 2 conclusion follows

Either conclusion 1 or conclusion 2 follows

Both conclusion 1 and conclusion 2 follow

FHCAEIR (oIfRereTs T |

IFCAIAIR FoTCsiz, o |
fmgs 1. ENER ez B
2. fogu foaldl tzrg (iftea |
(9 % 18 Tole 29 AT |
(e % 2 ToiTe 29 AN
C) w1 e[l 2 Toare 29 +AIfF |
191 2 Tey Praiere Toie 23 2AifJ |

e ¢

I (AT oI |
I FTIE e |
ToRA 2 1. W (oAl FifeT |
2. fegifer coiforet |
YNNG TP 1 SEPiRe B
YNNG TP 2 SEPTEe BC
C) W TRIA 1 9 THRA 2 SRR F(
T TR 1 G3R THRI 2 Sl F
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112.

112.

fagfr: e Afwen AR
TS HeHl GIABR
AR : 1. TR IfHe SR
2. THENE TaeR IFaaH
(A)  1SEIREE THEgE
(B) 2 SEIRE’ THELE
(C) 1 7STecT 2 I RS
(D) e, 1 3R 2, TAEeE

wed : gt dfael T E
gt 9 =
frerd . 1. O Ofae T ©

2. O WRUfEa )
(A) FHed FreRs 1 T g ST ¥
(B) hae freepd 2 TR UgHT I
(
(

C) i freemd 1 a1 frreewd 2 W wE=T S B
D) Tt 1 3R freerd 2 S X wg T S 2

GET IT ON
Google Play

113.

113.

113.

113.

113.

Identify the next set in the series :
L3P, R4W, Y5E, G6N, ?

(A) O7V (B) R7W (© Q7W
L3P, R4W, Y5E, G6N *R<4e1ThR #I5a9! 725! foriie 35 |
(A) O7V (B) R7W (C) Q7/W
e T ] Aol iz e |

L3P, R4W, Y5E, G6N, ?

(A) O7V (B) R7W (C) Q7/W
L3P, R4W, Y5E, G6N If{arel Srre S YU -

(A) O7V (B) R7W (C) Q7W
@ L3P, R4W, Y5E, G6N, ? , § 3Tl TS &l UgaH |

P7X

P7X

P7X

P7X

P7X

114.

(A) O7V (B) R7W ©) Q7W

Identify the incorrect Roman number.

(A) Thirty six : XXXVI (B) Ninety nine : XCIX
(©) Seventy four : DXXIV (D) Nine hundred : CM
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114. %% @ AL bie 75 |

(A) = g XXXVI (B) M= 2 XCIX
(C) (bPTes ¢ DXXIV (D) ™ ¢ CM
114. S@ G TR Bfers e |
(A)  =F : XXXVI (B) fa=iI=riE : XCIX
(C) TR : DXXIV (D) W% :CM
114. TR 99 M sARSHE @ ?
(A) g™ 5 &8 XXXVI (B) TN :XCIX
©) fafas:Dxxiv (D) SH':CM
114. oTd UHA H&A1 98 |
(A) BUE : XXXVI (B) e : XCIX
(C) =E® : DXXIV (D) FrE:CM
115. Ramya’s mother is the only daughter of Prachi’s father. How is Prachi’s husband related to Ramya ?
(A) Father (B) Brother (C) Paternal uncle (D) Grandfather
115. SOF T A6E fPes @@ GRS A6 FIT TOR GCe (F0 TTHCI AT 2
(A) fry (B) 9 © (D) =
115. TR 3 A6 I GFNG G | T ACH A FRIF 79 F1 2
() forel (B) ®R (© (D) o=
115. Tt fommn et fohif aree’ foRaTsi | gt framsen st q91 |9HEme) Siie 2
(A) fam (B) o<1/ e ) fo=d (D) fo=it
115. T3 1 | 9= o a1 o6t gehciidt ot & | Ur=it o 9fd o1 T 9 9 Gal © 2
(A) o (B) (€) == (D) <

116. Which one of the figures is different from the rest ?

> ==

1 2 3 4

116. (PINCH! fo@ SIS GICe 1= 2
M| == | == ;
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116.

116.

116.

oaufler T @t Sel@ (A wEm 2
@ === ;

ool HITH FERMRAT TEARRTHE ST

B==|n

1 2 3 4
) 2 ®) 4 © 1 D) 3
S S S i S WP
@ e | ]
1 2 3 4
) 2 ®) 4 © 1 D) 3

117.

117.

117.

117.

117.

Which set of letters would fill the gaps in :
MAK, LEL, [T [ ] joN, 1o

(A) JKL (B) KIN (©) KM (D) JLK
MAK, LEL,[_| [ ], JON, IUO 7 & BTz R0 3<5afew =3 774 2

(A) JKL (B) KIN (©) KIM D) JLK
@ 2efeamdt MAK, LEL, [ [ ] JON, 10O - ¢ wrfge =i =4 s 2

(A) JKL (B) KIN (©) KIM D) JLK
e o BET e A ST S WEEEE - MAK, LEL,[_ || ], JON, IUO
(A) JKL (B) KIN (©) KIM D) JLK

&R 1 -8 §98 MAK, LEL, || | |, JON, [UO ¥ ekt %o =1 o 2
(A) JKL (B) KIN ©) KM (D) JLK

118.

Which of the following is correct when calculated from left to right, ignoring BODMAS, if the rule
says, 5+2=3,5-2=7,10+2=20 and 10x2=5 ?

(A) 9x3-1+2=18 (B) 5+1+4-3=19

(C) 6x2-1+2=12 (D) 7+2+4-2=14
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118. BODMAS fazrs1 el & af 54+2=3,5-2="7,10+2=20 S 10 x 2 =5 J W(J {7 SepRe Tt 27,
(o0 AETHT 71 EHIfmiTe el SR Faffie mEa @G T va 2
(A) 9x3-1+2=18 (B) 5+1+4-3=19
Q) 6x2-1+2=12 (D) 7+2+4-2=14

118. IM @F M 5+2=3,5-2=7,10+2=20 &3 10 X 2=5 T, 97 BODMAS Tl FJ AT (ATF ©I
SI9[eTI SR TR B (P 7 2

(A) 9x3-1+2=18 (B) 5+1+4-3=19
(C) 6x2-1+2=12 (D) 7+2+4-2=14
118. SfE MUY 54+2=3,5-2=7, 10+2=20 AR 10x 2 =5, 3 BODMAS 1 F0@ Fafq"m stfafwm
TR fedTa WiemHenislen MR Sei T 9R ?
(A) 9x3-1+2=18 (B) 5+1+4-3=19
Q) 6x2-1+2=12 (D) 7+2+4-2=14

118. afg f=m 54+2=3,5-2=7,10+2=20 3R 10x2=>5 Fz&dl ¥, @ BODMAS ! 3@l Fd gL, a6 §
M Y 3R AT R Fefafied § 9 wE-91 98 g 2
(A) 9x3-1+2=18 (B) 5+1+4-3=19
(C) 6x2-1+2=12 (D) 7+2+4-2=14

119. Identify the odd pair.

(A) Pacific : Water (B) Himalaya : Mountain

(C) Vesuvius : Volcano (D) Mississippi : River
119. ST Q@IS el 5 |

(A) 2™ 2 T (B) fawiem ¢ o ®

©C) Rl e eI (D) ffefefs ¢ 7t
119. v (ool bies |

(A) 2™ 2 T (B) fawlem ¢ »i®

Q) covfen ¢ SRR (D) bikifel ¢ a7t
119. oS SOl M -

(A) ufafrs ;3 (B) Teurer™ : i

(C) Ighram : ord =l (D) fafafafy . &
119. SIS SISl &l T8aM |

(A) Ged : 5A (B) fewrera : weld

(C) =gfom™ : SaTamEt (D) fufafafy: 5
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120. What mathematical signs can be inserted respectively to get a correct equation (calculated left to
right ignoring BODMAS) ?

65130 ] 7 []15[]5=15
(A —, =, +, — B -, x,+, -
<) +, -, x, = (D) +, =+, —, —

120. (S =T 2/ @t it 9teil F1 92 BODMAS st siiesiel )65 ] 30[] 7 [] 15[ ] 5 =159
G 7 AR AR (@FER aMifafes 5F TN TBeE T AR 2
A —, =, +, - B) -, x,+, -
< +, -, %x,+ D) +,+, —, —

120. &6 AfIF T (ATS F siifafes Hzale T ARERe 31 @S #Itd (BODMAS T I AW
(AT TIE 9l T ZAR) 2
6513017 []15[15 =15
(A) -, +, +, - (B) —, %X, +, -
<© +, -, %, + (D) +, +, —, —

120. &9 FHEMHSTR THARRE! SHREE OR FHHEEE! §A41 SFH (BODMAS 8@ AafqaH, Arfafwm=

eI e wrerHsien) ?

6513017 [115[]5 =15

(A) -, +, +, - (B) —, X, +, -
<) +, -, %, + Dk - — B

120. HE& THHT (BODMAS i 3TN H3d gT ST & Y T0MT) W Hi o feIQ v b § o fo=e

T STl W TR © 2

6513017 []15[]5 =15

A —, =, +, - B) -, x,+, -
<) +, -, %, + (D) +, =+, —, —

121. What would replace ?? in the triangle set ?

(4) (8) (5)
@A® @A@ NN
A 9 (B) 11 (C) 10

Paper-1/ A 60


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda@47

121. fage WIS GR 2?2 TTe F W7 A 2

L A

(D) 12
121. fqge .??%%Wﬂ‘f@?

e

(D) 12

121. STI'@TF&TWW ??@mﬁh@w.

@;

121. f@ W& HyS Oqg & 72 o1 ©IH = o ?

A
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122. Which of the following words is correctly spelt ?
(A) Jeography (B) Jeometry (©) Jeopardy (D) Jeology

S N e

122. FRERS (SR =@ I s T =g 2
(A) Jeography (B) Jeometry (©) Jeopardy (D) Jeology

122. FNOF (I 9 od Al A 2

(A) Jeography (B) Jeometry (C) Jeopardy (D) Jeology
122. TR e Haef S 91 2

(A) Jeography (B) Jeometry (C) Jeopardy (D) Jeology
122, Tefafed o @ i o1 v W ==t 9 feran @ g ?

(A) Jeography (B) Jeometry (C) Jeopardy (D) Jeology

123. What would be the Arabic numeral for MMCDXLVII ?
(A) 2,567 (B) 2,457 (©) 2,477 (D) 2,447

123. MMCDXLVII T 37 =K1 720161 75 29 2
(A) 2,567 (B) 2,457 (C) 2,477 (D) 2,447

123. MMCDXLVII &3 977 7122y fF 363 2
(A) 2,567 (B) 2,457 (C) 2,477 (D) 2,447

123. MMCDXLVII f7 3Re sHfsHm=n |/ S ?
(A) 2,567 (B) 2,457 (C) 2,477 (D) 2,447

123. MMCDXLVII & fou ewel e o= 8 ?
(A) 2,567 (B) 2,457 (C) 2,477 (D) 2,447

124. If ROCKET is written as TQEMGV, then what would be the last letter when RAINBOW is written
by the same code ?

(A Z (B) Y © A (D) U

124. I ROCKET 3§ TQEMGYV f2Id T 341 o, (O3 UF6! 8w RAINBOW 1fRte 3319 Wi 4ot

73 ?
A) Z B) Y < A D) U
124. T ROCKET (& TQEMGV fZ1R (514l =, OiRs @93 7F© 7l RAINBOW (57201 (51 (*1F S0 1
Q[ ?
A) Z B) Y © A (D) U
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124.

124.

e ROCKET & TQEMGV feRam S, 37eetl of TE Fwesii RAINBOW feReet siralen gi@ist o1 S ?
A) Z (B) Y <€ A (D) U

Ife ROCKET & TQEMGV & &9 H foran S €, 1 S5 shis 5’ RAINBOW o1 for@a | 2ifaw 31aR ==
M ?
(A) Z B Y <© A (D) U

125.

125.

125.

125.

125.

What would be the digit exactly in the middle when 65749 is subtracted from twice of itself ?
(A) 9 (B) 2 © 7 (D) 8

T 65749 FRATCHIF TR 1o AT =1 [ezis! 51 2, (0% FATAH 5 Gimiers 45 ws! 529 2
(A) 9 (B) 2 © 7 (D) 8

65749 (& ©iF faae (A [ee s 3 TR o=b F1 & 2

A) 9 (B) 2 < 7 (D) 8
65749 B faIfT TSR <M Rg s JFATE SAASHI TSR HEfSHE 17 2
A) 9 B) 2 < 7 (D) 8

9 65749 1 ITh A 9§ =T fen e df 9Rom & 3tk o= § hiA-91 37 2T 2
(A) 9 (B) 2 © 7 (D) 8

126.

126.

126.

126.

126.

Raj has to catch a train at fifteen minutes past three in the afternoon. What would be the time on
a 24-hours scale ?

(A) 03:15 hours (B) 15:15 hours (C) 13:15 hours (D) 23:15 hours

3ice fwfer fof afer cotrga T wam @ =9TST 471 a9l IR | 24 - T6R TE M2 €2 37FF F 29 2
(A) 03:15 7] (B) 15:15 ¥<DI (C) 13:15 =<1 (D) 23:15 5]

A [ee foa61 @0e 2@ NG G €908 A | 24 - 961 o ANT6! BT 2 2
(A) 03:15 9o (B) 15:15 9o (C) 13:15 wfo= (D) 23:15 9o

qEsig 3 gt e fafera Tt Yot TREreAT | 2451 Haars 99T S&di S 2
(A)  03:15 5= (B) 15:15 W= (C) 13:15 &= (D) 23:15 &=

ST 1 S T ot Ugg THE W 39 Uehe! €1 24 ¥ & 9 T T8 941 8N 2
(A) 03:15 o (B) 15:15 &1 (C) 13:15 & (D) 23:15 &
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127.

127.

127.

127.

127.

If 9 < x2 < 25, then the correct value/values of x is/are :

(A) 3,4,5 (B) 4,5 (C) 3,4 (D) 4

T 9 < 22 < 25, (O(T x T &7 N / AFPTZ (202 —
(A) 3,4,5 (B) 4,5 C) 3,4 (D) 4

T 9 < x2 < 25 5, O(@ x -IF WF W Z( ¢
(A) 3,4,5 (B) 4,5 (C) 3,4 (D) 4

fC 9 < x2 < 25 S, 37eet x T R 9 / AFGR :

(A) 3,4,5 (B) 4,5 (C) 3,4 (D) 4
Ife 9 < x2< 25, 1 x H e HA ®
(A) 3,4,5 (B) 4,5 (C) 3,4 (D) 4

128.

128.

128.

128.

128.

What would be the middlemost digit in the smallest number that can be made using all the digits
of 8936217 ?

(A) 3 (B) 6 © 7 (D) 9

8936217 FRATCHT SRI(HLD! AT T 510 FEQ 77! T[Toq AN 55 FHNee @6 o A 2
(A) 3 (B) 6 © 7 D) 9

8936217 €3 II® SHAeT LT IR 2N Fuow A f3F 45 oF6 F 23 2
(A) 3 (B) 6 © 7 D) 9

8936217 1 T AAFSHTRRE! TN S T JafRge e sTfsmIfa SR oR1E or |t 1 2
(A) 3 (B) 6 © 7 (D) 9

8936217 & T} 3Tehl hT ITANT Hich oIS ST ool Tod BT U@ 1 HEATH 3Tk =T BT 2

(A) 3 (B) 6 C) 7 (D) 9
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129. Lohit walks from Black to Pink, which are 9 meters apart. At Pink, he takes a right turn and walks
4 meters to Blue. He takes another right turn and walks a distance of 9 meters to Red. At Red he
takes a left turn and walks 2 meters. How far is Lohit away from Black ?

(A) 4 meters (B) 13 meters (C) 22 meters (D) 6 meters

129. (AIfZre @ T =1 9 o rage 41 71 giete (Aeifs T | o4 gie (o8 EIRIce 903 == 4 fS5R
ISR F B A9 | 3® (08 771 FIRICS Y@ o= 9 WoF (T (@€ BH 2| ([{C Fe (08
GO (S W6 2 WoF (S DD | (=2 Gfoxl @@ gee 791 [ e e 2

(A) 4 TOR (B) 13 o= (C) 22 TioF (D) 6 ToF

129. @1fes @ (AGF P03 e 206, e g 9 it | P10 (1 ©in fcss 319 (7w @3k 4 6 (206 3@ 56
AR | (1 SR TS GG (T3 43 9 G 779 (X6 (0T CoM=R | (T8 (A0S G A (G (717 43K 2 {0
T | (RS @F (AT T 0 R ?

(A) 4 RTR (B) 13 fo® (C) 22 Tow (D) 6 o™

129. fed st fisfam 9 fier emem | fiskra foi strretf fiifdam 4 firer ememA™ sqema e | fo=i
RS AT T 9 fer Yefaw erem | ¥ee foril strfafe ffdam 2 fHer erem | ifedl scish s
Y TS T ?

(A) 4 R (B) 13 feRr (C) 22 fAer (D) 6 fHeRr

129. cHifed =i & fish e =reran & S 9 Hiex &t g0 W | e W 9% S g © 37K & i 3R 4 HieX = |
T8 T IR TR 3 G © 7R ¥ q 9 Higt 1 T 79 el & 138 W 98 ot oI gt € 31 2 Hiex e
7 dlifed =i @ foraft W2

(A) 4 H (B) 13 HieX (C) 22 HX (D) 6 HiX

130. Identify the word with no pair of consecutive letters placed together.
(A) Alphabet (B) Partner (C) Rightness (D) Station

130. (I G G I Gretest 92 275! e < |

(A) Alphabet (B) Partner (C) Rightness (D) Station
130. (PG GRCegl Eo T 2(ifioNf) SRige T <@ Hizw ww |

(A) Alphabet (B) Partner (€) Rightness (D) Station
130. TR o HigTerel SE HIfe Ll gl 121 2

(A) Alphabet (B) Partner (C) Rightness (D) Station

130. 3Y I i Y89 S FT0H TR 78R 1 g SISl U 19 = &M T 7 |
(A) Alphabet (B) Partner (C) Rightness (D) Station
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131. If A=26, B=25, and so on till Z=1, then what would be the sum of STAR ?
(A) 32 (B) 67 (C) 50 (D) 55
131. T A =26, B=25, Si< qrwd SN[ (o Z=1 T, (508 STAR I 5 (ioizre] fFalley 292
(A) 32 (B) 67 (C) 50 (D) 55
131. I A =26, B=25, ¢ Y2I@ I Z=1 2, O STAR 95 (e T© (I ?
(A) 32 (B) 67 Q) 50 (D) 55
131. 9 A =26, B=25 91fs Z=1 i Semrel, 3ee STAR 1 e o€ S 2
(A) 32 (B) 67 (C) 50 (D) 55
131. A A =26, B=25, 3R W Z=1 T TH YR &, A STAR I AT F1 11 2
(A) 32 (B) 67 (C) 50 (D) 55
132. Which of the following is NOT of the same set ?
(A) Cash Payment (B) Mobile Banking
(C) Debit Card (D) Net Banking
132. RS 728 @G GGF (N6 TWGS T2 ?
(A) T sif{Te (B)  CRIZE (AL
Q) ©REIE (D) & @=RR
132. % Talie @ @33 (P a2
(A) T Bl ewi (B)  GIIIZeT yigiaRe
Q) (SRTIE (D) 6 iR
132. TR s TW g AT ?
(A) e U S B (B) Wazd dfdh
(C) zfae &R (D) e difsh
132. frAfafEd § ¥ &F W s & gqg w1 TE © 2
(A) THS TAH (B) HEEA dfhT
(C) zfoe wE (D) e Sifd
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133. Identify the word which cannot be made from CARBOHYDRATE.
(A) AHEAD (B) RETRO (C) YACHT HYPER
133. CARBOHYDRATE F % /128l F/ RIS = o] Helle < |
(A) AHEAD (B) RETRO (C) YACHT HYPER
133. (9 *75 CARBOHYDRATE (2[(F (o4 &4 q¥ I ©f Bfzre T2+ |
(A) AHEAD (B) RETRO (C) YACHT HYPER
133. TR 9« Wea@ CARBOHYDRATE fwm fegr grn 2
(A) AHEAD (B) RETRO (C) YACHT HYPER
133. 39 I & g9, S CARBOHYDRATE ¥ & oM@ ST Hehdl |
(A) AHEAD (B) RETRO (C) YACHT HYPER
134. Which of the four given sequences would be meaningful for the words ?
1. House 2. Street 3. Room 4. Town District
(A) 3,1,2,4,5 (B) 5,4,1,32
(C) 31,425 (D) 5,4,3,1,2
134. 1. @ 2. I 3. 4. 9] fee
2 WL A AT TP (FACH! T T2 2T ?
(A) 3,1,2,4,5 1B \aill| 1597
(C) 31,425 (D) 5,4,3,1,2
134. @€ bR ST WM& (FED *HSENR Sy w7l 27 2
1. afe 2. A=l 3. % 4. = cerel
(A) 3,1,2,4,5 (B) 5,4,1,32
(C) 31,425 (D) 5,4,3,1,2
134. TEEM 6 STUT IR S HISHhRE! ST T WA ?
1. 2. M 3. @'’ 4. AR IS
(A) 3,1,2,4,5 (B) 5,4,1,32
(C) 31,425 (D) 5,4,3,1,2
134. U 73 =R ST H § ¥ -1 34 veal o folu |iefeh & 2
1. = 2. 9USH 3. &EU 4. TH ISl
(A) 3,1,2,4,5 (B) 5,4,1,32
(C) 3,1,4,25 (D) 5,4,3,1,2
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135. If the code for WATER is 67 and for DRINK is 56, then the code for RIVER is :
(A) 48 (B) 98 Q) 72 (D) 35
135. M WATER & FTAL 67 BN DRINK F A& T A2 56 T, (908 RIVER F IE T F2A (302 8
(A) 48 (B) 98 Q) 72 (D) 35
135. M WATER &3 T RO T 67 €2 DRINK €9 ef T 56, O RIVER @9 HUFS (S &
(A) 48 (B) 98 (Q 72 (D) 35
135. WATER 7 %21 67, DRINK 41 56, RIVER T el -
(A) 48 (B) 98 Q) 72 (D) 35
135. If¢ WATER & T ®Tg 67 & 3R DRINK & f&TU 56 €, I RIVER & faU i ® :
(A) 48 (B) 98 Q) 72 (D) 35
-00o0-
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